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(2) my younger brother set the table for dinner
(3) bought me a nice scarf
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TEE4 [1¥] In California, there are some large rocks
[that appear to move on their own].
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TEEM 28] However, the way [in which it reacts]
varies according to our empathy levels.
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TE=E4 28] People consuming a lot of trans fats tend

to have smaller brains, [which can lead to Alzheimer’s
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TEE4 (4% Slow muscle fibers are made of cells
[that have the ability {to make ...} but don’t produce
.
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[10%] But this makes it easier for them to become tired.
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[11&] It is during short, powerful actions, such as
those [that occur in sprinting or weightlifting], that

these muscle fibers function best.
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TEEXM 48] When this is the case, electric cars end
up creating nearly as much greenhouse gas as normal
cars.
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TE224 [63] He mapped out the tribe’s land,
marking their villages, hunting areas, and holy sites.
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[9&] This not only /et the world see the challenges ...
but also /elped the local government locate ... .
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TFEEA (73] ..., farmers use tubes [installed beneath
the surface of the fields] to deliver water directly to the
plants’ roots.
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(8] ... the amount of water used by 70% while

increasing the number of crops produced by up to 90%.
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TEE4 [3™] Technology makes it easier fo worsen
problems with a quick response.
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[43] T myself have made the mistake of [replying to
emails too quicklyl, using a harsh tone that only made
things worse.
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TE224 [1¥] ..., everyone else seems [to have a better
life than we do].
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[43] When we compare our own lives to what we see

on the screen, we begin to feel bad.
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TEE4 [63] ..., the staff would use the toy cars to
recreate the accidents.
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[82] ..., the simulation presents the written material
in a visual manner, making 7/ more understandable.
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ofld sPhS0l o 2 Mitds 245ts Ol HESIEM, AFE= 19
Hi7| S0l 2p71S0il Qfsh M ATt 2oL AFRE S| LE A 2
= AO0[ HHHRACE ZtH|2ts 7H MEeh CIE[7IK] ASHHA, OlEf
pPLE 4 UE AL FHE FEHR LEHE 4+ AU 01A2
S[7HS0] MZnE Z0] T AlCHO| ARIOA ZAHEIX] e 2450 HS
SIS SFUCL. AHLFUM EOM L2 0] SE= A2t
LT e et HHOM VHY & 20E 4 AN OS2 stes MU A
AOZ LI7HA 9| Yt MZo] Dot HatE ZARIL, HIS OS2
HHZ 2 A2 7ISoks MEFARSE GURT, HF0| O H2 At
o AEs SU{E/UL. 0[A2 HSHYU AEFOUA S O o =
2HQI AT 0|2 gfot= A0IRACE

THEO0| 19M7] Bt AHEFO| 37152 A& Y2 Il
S S HRAL, O 20 & O N AFY7 SEMHE UHE

=

ot Ot FHZ2E @ AElE0] 2H2
o

TE24 [63] This movement [away from realism]

can best be seen in a group of painters {known as

Impressionists}.

[ J= Z0{2l This movementE 4AlGH= HEAIT0|D, { = a

A
= —
group of paintersE Aot HAHZA0|CE, 0] &2 SA=

can be seenO|LCt,



[984] ..., [recording {what they actually saw}], they
put more of their own perceptions into their work.,
[ J= RUAES LIEH= 2ALE0ICE { f= BAHHEAL whatO]

0|l= BAEZ, recording?| 520 J&g BfCt.
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TEEM 28] ... those [that can handle them) survive

and pass their superior traits to their offspring.

[ J= MAIRI thoseE #=4I5t= =2 HALIHAREO|CE, O]
them2 & 22 outside forcesE 7t2|7ICt,

(58] But there is evidence [that human evolution is
still occurring].

[ I= evidenceE £¢ MY = S24F0|C

REVIEW TEST - Grammar in the passage p.17

1 Many people think that electric cars are completely
eco-friendly.

HE MRS H7| NStz 2o TetEX0|2t] M2SH,

=t

2 When we are unhappy, everyone else seems to have

a better life than we do.
L7t SH O, THE A2 25 QE|HO [ L2 42 Als

A 2Lt

3 Doing so will give you time to think again.

-

JZH otz A2 SH0A THAl B 2t

o

w

At & A0t

4 These people read car accident reports to determine
who caused an accident.

O MHE2 7t MULE L2X=XIE 2ol It ASKE Ab
A HINE SHED

5 Individuals that cannot handle these forces die.
Ol2fet 2l LA2fR| Zot= JHAl= SEL

6 This let the world see the challenges faced by the

SHO S5A 20

Surui.
O|A2 & MIAIZE Suruizt At 2SS 27 L

7 Outside forces seem to be a key factor in evolution.

F4 =0f

Q2 Totof ANM =2 21X 22ICt,

8 The situation causes your heart to race.
SHO| SXAEH

0 AEe YA IS A BiC

9 The process of digging out the material can be
harmful to the environment.

=52 Mzots 2FO| &0 2= 4~ AU

10 Scientists call this natural selection.

250 =7 Hof



UNIT 02
SAS| AlH|

1 712 AlA| p.19
® J= 2E O MAXME ZO| ALS STt
@ 10 J2AQIES & E& 7|BOZE 7|2 SXIN 7|1 ==53)

=

® L= Sile= 248 E7(7| flsH o[=fz(otof 2 Zd0]Ct,
+ &5 Plus
WY H|7t 20, L Ul A Y3 200,
2 MY p-19

@ Kevin2 AtHlQ] &t} H 7H7k2 OHIES

@ Emiy7} 2ol S0t T Lewiss TXHES 1 AKCH
® WY 210N, 22l XI7 2ust0) thf e 3
@ L= S20) Y F7S B @5 B mY %ol
+ &35 Plus

FE50| B2 I shd2 dd"0| 28 =XE i 85| AU

CHECK UP p.19

Stepl 1lis 2 comes 3 will be flying

Step2 1 were 2 upload 3 resembled
Step 1

1 X9 7= G2 74X 7|M2 8= 0] ATt

> LEHHOI AME 2 SIHAIM|Z LEFEHTY,
2 J47 WY @E, L= Ui Bi2 Matet 20|,

> =S UEUE BAROME °41HAII1I7F OIZHAINIE CHilStT.
3 U OIS Rcl= EfEY 9IS HIor A= A0

> D[249] St Aol Tt Sl 22 0| ._Iac'jéci(will be v-ing)& L.

Step 2
1 45H 7o 2H 0|20, 3= M=2 199001 SYEUCE
> AR AFA2 DPAAIMZ LIEFACE,
2 Mg RVIE AOIEN 22T, A2 T Wi Al 10% elts A
o[ct,
> X2 UEHE= SAFEUM = SAXHAIRIZL O|2HAIKIE CHAIBHTE,
3 AliciaZt 0{BS M, JlH= A0t SURACH
> MEHE LIEHH= SAL resemble Zlgigoz MX| otooz 1}

ZHAIH|QI resembled® MOF SHCF,

3 HxeE .
@ Jamest= CH3 MZS 0|0 ZX3SHCY

= = AN
@ H Ot M= SE7t FAL] ME2E S8 FSAEU.

® Paul2 F0j $tAIZ 2{0] & Ho| QIXI2t 20} B8 HstCt,
@ DAL AAOI LIZLA XIZ 017101 O AT

4 MAAH vs, HAMAR p.20
O U= oMl M2 =H =% SHOIl 4ct
@ 20 8AIRIH| Lf Tz OFA Ltoi|A =2t SHA| QERUL.

® 25H7F = A 2F2 = HE0UC

CHECK UP p.20
Step1 1 have 2 have been 3 fixed
Step2 1 F, hosted 2T 3 F, have lost
Step 1
1 $EZUE O U2 2Ys 2E MRS A5 2206l 2ttt
> Over the years7} MOf =3 MEE XG2S ALttt

NS LIEIHEE SXI2AE AIK|7F Lot
2 FF 8t RPES0| XHFEE OFHTE
> since’Zt M0| X|HFRE X|Z7HK| OFE 210 A& =L USS LIEE
LHE 2 SIXHRAZ A7+ LTt
3 3 MOl HHIAESAL IS DA
> It7{9] A|HS LIEIE BART three days ago’t QB E 1t/
AHIE 2Lt

Step 2
1 2002E0f et=2 Y2t e 2=TS AL
> 1719 AFE LIEILHE EAE in 20027t QeE2 THAIRE
2Lt
2 Kelly= =H7t 0| 201 A LA Z0] HCt
» for years7t M0 =H SOt A& LSt A LIEILHEZ Sxjt=
AMIE 2Lt
3 U= {0 MEtE S0t M, X5 2XAF HAIXIE 2E 4= eitt
> SO M3E AoHE 2t 11 JECZ XF ZAL HAIXIE 2
+ QO E HIRE AIKNIZF ARCEH

-

5 =} 022tE p-21
@ Y7t 2AE FH6] Tl Lh= 010] 1 AR OfE2|A0j8E 7
OH AL,
@ AliceZt

ZNETO SRHS 1 A= EIHNS QU0 AEIKCE
® M2 0IAR7| RO, L= 51210]0flAf 1041 SOt Artrt,

@ Harry'= L{EH0] 21 0] S|AOIA 5137F Ut Eict.

® Cte 2o T2jof 7P =3 fa| JHES IRS Al ¥ WEsH

®

rr H

o &

2 H1 TIF
Bk
<
o
40
i}

(&)
(€]
At
2
=2
-



CHECK UP p.21

Step1 1 had already begun 2 have been driving

3 will have been learning 4 have been trying

Step 2 1 had been 2 will have collected
Step 1
1 W7H 871800 =ARES T OF F7 (= 010] AIE=UC.
> L7t B7180 AT D42 Al 0|0 Lo 20|22 1pA
2= ANE 220
2 RE= A S WS AL AR 65| =2 0 UL
> A0 AlEfet 20| RAIZTMHAIE ALK& U= HE0|22 SiXf
2z TS 20
3 O3 2018 L= 33 St A% F0E B S0 =L
> J0| SEE D0 AlZfSHA Dl AIF(CE 2)0lE ALsta
US AWO|22 D22tz TAYES 20
4 52 2= OFdRH 02 +3f EXMSs 271 floi A% =25t
U= SOICt
> sinceZt 0] OFHRE XIZTHA| +5f 2H| 27|E ALt Us
Ag HEHHEZ Slipts TS 20t
Step 2
1 I ZO| Cf B2 H 0|20, 2= a2 SYAPE F=40l2k= A
= YaC.
> SHHZE FOIA et A2 P27t 29 SHXIE LS Al
H(found) O|Z10|2 2 U}HLtE AIKIS &L
2 O K| 22| 2 AES 25 2o FTh
> DpA0 AlRFE FE 0] 0212 A0 =)ol 2k=E 0]

1

O2 0|3HYAZ A|HZ L0}

GRAMMAR for Reading pp.22-23

1 (1) have stayed (2) eats (3) visited (4) had been
2 (1) finishes (2) belong (3) have known

(4) has been looking
3 (1) has left (2) will have moved (3) had eaten

4 lose

5 (A) have been (B) listen
EXTRA QUESTION @

6 (A) has become
(B) will be[is going to be]

(1) LIQt L F1H1= oAl
» since’| A0 O{HIEHE
2tz AHIE £L

Ef L0 =1 AL
o

AN
Bl A% MRl UASE

LEHHE 2 S47H

(2) Jennifer= O3 FLYUDICH 140 TR X719t Malg HeCt,
> SOl BIEXOI S S LIEHHE 2 SIHAIME 20,
(8) R2l= ZA0| Mt SOt LIS ot UL,
> 11719 A|HE LIEHH= EAMT last year7t YO BE THHAIKIE
20t
(4) NI A7t LIS THR7| F7HK| Lz 2 AlZE S0t Xtar AU
ct.
> TO| 771 E A2 HEE AL HE A JAUACDZ WAHRtz Al
HIE 2Lt
2 (1) Scarlet0| E11MZS Ot MH Q2|= H35I1E H2f 2 Z0|C},
> AlZHO|Lt 271E LEHE= 2ARE0IME JTAIKIZE OlZIA K E
CHAISHT
(2) ME o] RE M2 U Z0|ct,
> ~RE LEHE= SAt belong2 TAEC 2 £ & Tt
(3) 227t =ESWE tHd HEH L= 15 Lorgttt
» since/t M0 25t HEH X2 A% L0 X|HCh=E AS
LIEHE 2 STHtE AIRIE 20
(4) Jacob2 O{MISE] Rt7| &t BAE A& &1 Qe S0ICH
> O{MIRE XK 7% Xt SHE H1 JLL= s T
s 20k
3 (1) AL o= AIEOH EmilyZ} OZ2|OF2 [ELEA SHXHZER] AFR A0
Sl= XS LEHHEE SItE AMIE 20t
(2) Dl2He] AF(CHS & oY mZ)oll 0|7 &2 2 ZI0|22 Oj2f&t
2 AME 20
(3) =g otz 7t 1AL o= AI™ O|F0l| XEg 92 0|22
A= AINS 2L
4
SiA] Xt 2k T E &kl US @0 Ot 2t HES s2ES
Fl&sk= disEe 51 QUL AFAES SEE9 HESE0| X727t M
SSoliEof met S50 Z R 0|35kl /USS YA 0] B2 &
501 S0 0|5l oM, SHil= IS0 XILEXIA FHE X9 7|2
0| S2tol M2t oA F 3km™ A L7k T =252 X ois
= SAES &of 21 U, 0] A= 2 7t

EAL currently(8XH, X|Z)2t EH A0 SIXHR| AHAO|LE AFEH
LIEHHE 2 SHIHAIRIE 2L,
TEE4 [1™] Not only is global warming hurting the

planet, it is also helping pests [that damage valuable

crops.
"not only A but also B,= ‘AREl OtL2t B2 <00, but
0] M2fel 2H0ICH, 2HOTE 2t 017 Not only7t 2&2| X

S0il Ltek 2=01(global warming)et SAHKis)7t EXI=RUCE [ =
pestsE MEALR SH= 224 B CHHAPRO|CY,



[43] ..., spreading about three kilometers annually as

temperatures rise in areas [that were once too cold for

them)].

spreading O|ot= RLH&ES LIEHE = EAMEE0ICE as= ~&0i|

mafet= 20|19 ™HALOILE [ 1= %9 areasE Alot= 24

A CHHEALEO|CE
5
SHA US ekt QIMOIA Z[CHY IHE WiE A2 B2 AFES0| 42t
Sh= AXME OEX|l= %O Lie XSTHA| L 40l AGX 2Lt I12l
MOo=ZLt = [ 20| 01 SUCE W HZS T2 AIZS| HeE RUMA|
St= 240141, O3 Sh= 2 e OS0A HE 7|I201= A2 &
SHAAS LA, HLAE UR0|= AMTZL “ASO0| Te [ 245
5| H 7202t et Ush=0|, T2 siHst A2 At FAIED 1
L} ZAI0| ARFSOIA HE 7I20IH, 252 G2 Z0t6H =1 g
0| 2= dl= AS ¢/ === AOo|Ct,
EHZEO0] (A) so far(XIZ7X)7H A0 HALE SHMYTIX| HALE LAS

LIEIE = Sifj2tE AXIQ! have beens MO BT,
(B) =AU LBl EAENME SAIMZE OI2iARIE HAlst22
listen2 MOF SHCt,

TE24 [338] My secret is [to put the needs of others
first], and I've found [¢hat the best way {to do so} is by
listening to them].

to put ... firste 22| HOE Ml AN 9| toFFALO|
L}, that 0|3k= SAt 've(= have) found2| SXHZ MOl HAPEZ
that® 9| =M the best way0|1l, SAH= isO|Ct. to do so= &

9| the best wayE F=Aoh= HEAE Y| toFIAH0[L}.
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TEEM [79] ..., the number of teachers [who use this
method in their classes] will be likely to increase in
the future,
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TE224 [43] ... they learned [that running the
quarter-mile track during gym class would earn them
a special prize].

[ J= SAL learned?| SX0{2 MQI HAPHO|C), thatHo| F0i=
SHAF(running ... during gym class)0|1, SAH= would earn

0CY.

[6&] They can also get rewards for doing things like
[picking up garbage around the school or helping
younger students find the bathroom].

[ 1= ®XIAL ke SHOZ MO SHALE picking upt

e IZERICE help®] X7 HO|Z SALUE

===

helping0| orZ
(find)O] RACt,
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&2 ddole A o A Holiotk| §7|S #ol7| WZ0[Ch Ot
A2, RHAAELL AF= AZHQ 00X Z&E 7H5d0| K. 18
L =S80A e=2 Hi S, 20 O, A SHY, HAS 25 &
M 0|8ttt OAS2 ot X2l s USH W7| #loi 28
Ch G0 & ST A=52 20d, Tyt s US| x3s

2 2 Ao,
EHE0] S=2 o2f 00| ZeE FEHYS 0|0F7[5HLL QUTE. T2
0] 29 2AIZ= @O0 71 HHottt,

TEEM 2] A painting [hanging in an art
museuml], ..., is unlikely to be accompanied by music.

[ 1= A paintingS FHFE SIXHEAF0ICt. Tbe accompanied
by ~i= ~2 B SH]5ICH 2= 2J0]0|Lt,

2@

a4 HohE2 28 27t Eoks As EX RopA etk Z2iL o
M= O] Y2 M2 H 0ld EMotAl = AS0I0. 0|A2 'Ifo|
3 MEF02tY LA ULt of HH0iAl ZWX(117| B OF2|7t of &
= SU719F A 20| EURL. 12 [ B0] ZUX|17|7F &
2 27|15 YA ZolA YU US0 2 Ra7t XFRE W 1AL
71= HOIE ®OU AR} oHA| §IUCH X, 2= ZRX|17|X
2 ASolM FHO| B0 BrSoh= ol Amjettt. HX| 240 227 £
A7HE & o YRACL ohM 20| M 227t 2dE & 4 glH= 9
Ol OfLIL}, FA7P7L gil0| SHEE O|F A ZotA 21 JACHH, 12710]
A FHRUK| S| Ftlof HAHZREHO| FHOHZ 0| St 7[ARIX] At
oA 20122t

EHZE0] 22 HIof thet A W0l oM EXHSIX= Y= Foi=
o] geks A H= RVt ASS Ao, 19 HoHSol thet 71y
oA S0fLt HatE &0 LS tHSaH0F ettt FFstil ez

PSS

TEE4 (18] But sometimes these barriers are

actually things [that no longer exist].

[ ] things& M™ALZ St= =2 A YAREO|C,

[63l] Just because we were unable to do something in
the past, it doesn't mean [(that) we can't do it today].
[ 1= SAtdoesn't mean2| SE{Z MOl HAEZ, HARES 0|11

= B4Af that0] MEIC,

83l] ..., ask yourself [ifit is a real barrier ... past].
yourself= SAt ask®| ZHYEX 0|2 MOl MAUHAMOICE [ J=
askQ| I HOZ MOl HAPHE FH&A} ife ~QIX| OFHA[S] &

O[C}

o W
)

52
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AL BRALS| B2t AMISO0| AV 20l MBS

of ol X|cst Feks N1E +

$9
ajo
mjo
HT

&=Lt Black & Threlfall2 &

gd= N
& NSO HRAE 71 LS 2tAS0| UAS BRAE 7+ A
& SRR W O ME gEs Arhe As Lan OS2 Eot
D20 HOoHis EUANT MBS dES RS & S 2
7 E EUCAL ASYH. 0l 259 NS 4 20| #iRAS2E
B M=M= A2 2| W2 +5 UG OE7HAIZ, Pratt2 B
AbESEHIES YA T2 Hoje #Ate 22 S FHE0 O H%
Che AS LAYt

@7 Lot

TEEM [53] ... for patients [whose partners had also
lost weight but were not part of the program].

[ ]= patientsS MBAIR St= AR2Z 2AHHZAPEO|L

[78] Likewise, Pratt found [that for patients {whose
spouses also participated in a weight-loss program},
drop-out rates were lower].

[ J= SAtfound® EX0] AES St= FAMER, thatFQ| 0i=
drop-out rates0|11, SAk= wereO|Ct, { }= patientsE MIALZ

otz &7 HAHBARRO|L,

4®

SiiA AP Y2 ©Y B 78 LoiUs BRG] 22 HEott
S AHHO[ AHLIO| o= At oHX| o= As S| otk &
= A2 WSO WAL 2T 0]H2 OO EHafol = HO0| Y= At
= AO[OIM LOLE= S8 &=l BIH, OR2 X0 71 sEE oy
JIS0IEX 2HHE LR HAHET|E BTt 0] dEo EXE2 42X
Y0l LOLEA| SE=CtE A0IL. 2 & 0= B2 JUY0| Mefrstl
U= A2 YOLSHOF of=dl, IHA| Yo IS 21 S M
Off Al 8 Ul 2 Z0ICH 0]A2 ATt HAE LE 71540| U=
2o L 422 0|0{E & UL, E A AHEZAE 2
= H0| HOHR A SS AN E 2L

EHEO|l Artle| s 1N4ots YN Y2 oSS M0
0|27 ot 2= #AE LE 4 U= WHE0IEZ ®7F 2X|= HES}

Ch.

TE=E4 [1™] Positional bargaining is a bad situation
[that sometimes occurs during negotiations].

[ ]= a bad situation2 $AI5t= 24 T HARHO|CE,

[68f] Either one side has to accept [what the other

is offering], or they will continue to be trapped in a

long, unpleasant battle.
SAt accept2| SH0{= HAHHAL what0| 0|11= HAREO| 4%
Ct. or= TIEX| PO 9| 90|S LIEfLY= H&HAL0|T

= ==

1
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o
Rinl
N30

2, 4 4 22 M2 AN I 90D 3
3T DS 25 AM0| LIE HA9| 220 SHLISS 4710 TS &
S0 MYYCL T2 SXSS MY SHUSSY HA'HOR 5
Of7} £40F BITH T2 ATROME QASH Z20| LI OfF A7IXS0)
DL O1A0) i3t AHO| URES 92 ¥R, T12 0152 22 0/0p|
o B AL LIF0, A8 AS NS IS SLOj 7|2H5hA
T T 1Y BES 2 7H540] O NoIT 281 AMS ol
0| 2{7} CI2 ArS Olafiots bl E20] Sie 2 20t

SHZ0| 28 A80| T2 S Ofsfets O £20| HO= W02

2 ®7t 2A12 HHs|L,

TEE4 [13] The ability [to imagine the thoughts
and feelings of other people] is known as “theory of
mind.”

[ [= The abilityS $=Al5h= SEAE 882 toRHAITL0ICH,

[8%t] Afterwards, those [who read the novel] were less

likely to make stereotypes about her based on her
religion.
[ = =24 HANBAER thoseE

= AZE0[21 1 S Bttt

ATt those who ~&= ‘~6t

4 o = =2 = Al
of7| flofl B2 s M MEHLz, OUE Holdo s DXl
ZUES YO OFL JE7F HEE O, OHE F7IAS0A
AlLt &2 0[0F7] 22 2B HoHQl ZitEgs UsH & As QF0!
& 3k RR AVIAS2 O50] HELD U= RS0 B2 ol F
o0l et FVtE e A0t SAUH. U LE HVIAE2 B2t
Off CHoll OFF A= =X RIUCE. Ofr Q] Ad Zit= Ui L&AHO0IY
Ch 28 71 X 2022 MRS0| Are| A0] THE AFRE0 o
of @7ta As SxE W USOAL. G710 tioh HdotA| ¢4 52
SR ZoXel Y of= As EXE Ao,

SHZ0| oINS W 1S SHE M

o =2 =2 ML=
HOIACH= A Z1E Aok 20122, QX|2= O0] YR,

TEE4 [3%] ..., she would ask the participants to
produce some kind of creative product, ... .

ask+ BH0{ +to-v,= ~0 & HS LRI = 20|
ct.

[58] Some participants were told [that the things
{(thatlwhich]) they were producing} were going to be

evaluated for creativity by experts].

12

SAL tolde] SX0| HEE ot AR [ ]9 0= the things
0|H, SAt= were going to be evaluatedO|Ct, { }= MaliAtl
the thingsE FHF= SHE HAHBIAEZ SXZ LA IAL

that[which]O| AMZFZ| ALt

7®

Sl ARE2 O Eafol 245 O g3oi 2 L0J2t = 0]
RACH O A0 MEH, 22s 22 dNS Y1, 2 uss i, 4
== =2 0| He HYS 7| ?lof ZMS ToioF Sttt ofH, AT
of 7H2 ALEL =3 BEO| Zutz K{ATIL J2Lt AMd O] #Al2
Siallt k=0 B2 AFS0] 71871 A9 EXMoHA| = R0A st
Al EHOLAL Kb 0T THE AFFE2 Aol 020 HES0HAl ZotA|
& HHOIL ArARall, = HEOZ 2l =23 A MY Aol
wELABALE, Alzle O YT THE ASE B0 AE2A WHAE
A O AFHE0| g30 thet SEst 7|28 H=S 571 ?loi /2l oOt=
A ofX| Sh=n

(e)

ZHE0| Zo| Lol'H d3& Ao|2t=s T3ih= 2| olHUX| =t
=

J0A EHOILE ARAIQ] Do) HEE + gl MAIM| A= AMEHE

4 U
CHa gich matd 0] 29 2XI2= G7t 7HE XEsHTt
=24 [13] ... the harder you work, the more

successful you become.

the +H|W& ~, the+H| g ...,2 ~5IH S5 L -5} Et=
olojo|ct.

[538] Many people will be born and raised in poverty
in places [where few opportunities exist].

[ J= %9l placesE FHF= TS AR

[78] Sadly, society does little to help these people get
a fair chance at success, [leaving entire communities o

suffer from continuous poverty].
to help Olot= =&2 LIEH = REAME 82 toREAL0|H, help
o SX HO{Z SAHRIZ(get)0] ST [

EANFZ20|H, Nleave + 2X{0] +to-v,= ~

HEO 2k 2lojo|ct,
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SilA o o Or2|2] M7F FE20 SS351K FEL. 0] 5 S0|3s
NEE F2 105 2420 S 2], 22 37 1 FE0] 25|
ol dRYS HOFUL. AFES2 QU2 XS, Y, ¥, 2= 24
ot 52 229 37100 7K 2 #R10| == 20101 A Ho[Fe EXH,
HH9 717t 2 U, 121 AME9| |IXIZE XS LOrRT. o 2j0)
HAE O] 2E 24501 ME 0S¢ 7tsd0| 7| W20 0] &
2 &0l HHYo ZHMOIH. 22 ARES2 £F 2ol 0|
A= H FUSO0| F2 M2t 25| FREHY U= LA ZEHO| U= H=
= 2X[otz AE 70k STt Motettt



H2 U4 0120 =F S5 MUE LYATI= 2210] &

=
21 EH0)| Cis @¥oh= 20|22, @7t QX2 HEs|IT,

[48] They found that the factors [that
contributed the most to an increase in crashes] were
the presence of ... .

[ ]= the factorsE s=Aloh= =2 B CHHAPRO|LY,

[8] However, the researchers suggest [that home
owners with bird-friendly yards (should) avoid

installing windows with a reflective coating, {which are

often involved in crashes}].
[ ]= SAb suggeste X0 gag ofH IAYS WESIE2
that® 2| SALZ T(should) + SAFEE 0] &t { }= windows with
=2
o

Yol =4 AR

2

)
_o'g
rir
=
I

2

a reflective coatings 34!
O|Ct,

REVIEW TEST - Grammar in the passage p.29

1 Theater is a unique type of art.
A2 =55t 0= HEHO|LH.

2 Obstacles often stop us from getting what we want.

Lo HoHE2 217t Hots AE A ZobA| eit.

3 Studies have shown that the attitude of a patient’s
spouse has an effect on a patient’s weight.
AT S SAtO| HYRALS| B =7} BHALS| AIS0| &k 7IRICt

= As B0 =

4 Their weight loss efforts were actively encouraged
by their spouse.
IS HMS A 82 1S9 HIRASERE HIXHO=Z A

2 2IRAC

5 They will continue to be trapped in a long, unpleasant
battle.

JS2 20k =3t MBS0 A< WY AA = HOI.

6 Literary fiction focuses more on the thoughts of
characters than other forms of writing.

zZof 242 LHE Mo 220 STUS9| 420l o IS,

= ud

7 They were enjoying doing something creative.

IS OOl US Si= U B7IT YU

8 Why are we using prizes to buy minimal cooperation
from children?
o R2|= Of0|S2FE £[Aso| HSS 0120 W] ?lofl &

ArEotL A=71?

9 This is a common error among people who haven’t
negotiated before.

0|42 OfF0f Eefoli = H0| |l= At S 249 28t &=0]L.

10 People that have been friends for years might find
themselves ending up as enemies.
SEZERITAE ARE2 2= HO| HoHE AMSS Ly

A= ZEC0H
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CHECK UP p.31

Step1 1 were washed 2 was held 3 study

Step2 1 carried 2 was trapped

Step 1
1 ZE AT EXE0] QoA HACH
> Z0{Q! All the dishesE "HOI' Li&0|22 4
2 EE2 Yo axct
Z0{2l The debate= ‘T’ 0|22 >SEY
3 Briand L= Oi5 SHQQUOCH 2t 201 &7H S0
» Z0{Q! Brian and 17} ‘25 =

iy ©
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rir
offl
1
10
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=
]
HU
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ofn
o
T
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Step 2
1 W20l S FHZ 0|2 AHLZ HHRUCE

> 012! My feetO] ‘T2 SEQ| FH 0|22 SSHIE 20
2 L= 3AIZH SOt L 2H2E S7H E{HIO1E{0f 245 UL
ZOfQL 17 A2IHOH O "2l Thef0|22 ~FEHS 220

3 4YAo| ~FEY p.32
O ZE X SAKES IE0AM EI=E SUCH
© 0] ¢17| HHH2 RS KU 0] 2o TSSO 7= MTIC
® 1 A0|d= JakeE @lall 12 ZHLIO| 25 RS OFICE
+ &35 Plus

0] AFE= 5 Ao =R
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4 5340l 258 p.32
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@ I HZ H MA tHE2 E0E A2 QYR =0,
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@ OOl AHS0] iﬂﬂﬁf: 0] OFFHSOA SR,
® W7t o4 & o Hotoj| 2Jsh HoIS &S iRl =AU

CHECK UP p.32

Step1 1 tomove 2 to him 3 for her

Step2 1ltome 2 to close
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1 Zit= 22 ot As
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CHECK UP

Step1 1 willbebitten 2 with
3 has encouraged
Step2 1T

3 F, are interested in

2 F, are being cooked



Step 1
1 G2 2= & AN 2710 2Jaf 2 AO0IC
> ZOQI YouZl 27[0f| ‘S CHAO0|H ZSAL willo] QOB 2 (will
be v-ed)7t LSICt,
2 A REQ HS0| JHIE|2 FFHUL.
» (be covered withy= ‘~Z FFHO|Ct'E 2|0|Z, by 02|29 ™X[A}

=
3 —’.‘—L.ﬂ?_f T2 ES %*Oﬂ Of0|7} R et M2 =S HEH RATt.
» 019l experts?} HASH= FH0|T, SA

nighttime separation ... from parent)7t Q222

Step 2
1 Norax= B 2I7S0] 2l BHEC= ERICH
» Nora’/} BtEOZ *#5]" Z{0|22 A2 £ZEQI (has been

v-ed)7t LS}

2 et 2 IWOHKIg A4 @0 el = S0|T
> =9 HH AT Z2|E D Q= £0|22 Y +~SEf 2l (be
S At+being v- ed>7 QfgiTt,
3 Johnzt Mary= IOt @12 Hh= 20 240 QUCE
» (be interested |n): ‘~0f 2tAl0| UCHE Ql0|2, by 0]2]9] FMX|
AE M= SE) BHO0IC

1 (1) was taken care of (2) be carried on

(3) disappeared
2 (1) to wash

(3) is composed of

(4) are thrown away
(2) occurred
(4) be sent to
3 (1) I was being followed by some strangers
(2) The students were told to remove everything
from their desks
(3) These doughnuts are filled with delicious grape
jam
4 (A) are posted
5 (A) be taken
EXTRA QUESTION a basic set of ethical rules

(B) be experienced

(B) are prepared

6 (A) are exposed (B) are caused

1 (1) X 2 Lol ofiet 1k0l= 2] AL{of 2fsh S2HC
> 1IU0|= 'SEXE 0|22 ~FEE 20
7 S0l 2ol Al&E AOIT.
> IR AL B U022 +~FHE 20
(3) I M2 L7} Xf2IS H|2 SO L ZA0flA ARZPCY,

» disappear= AtSAO|E2 SFEHZ MX| =0,

(4) M2 S2AE HES 7| Bh= T,
> SofAE R HAXIE HY0|22 +SHE 20

2 (1) otoll 2fa LH7EIHE M7 (A =IRACE
> SSEIOIM AISSAF makel 247 HOZ MOl SAIRES ¢
SEHOI|A] to R RIALZ HIRCE
(2) O3 = DHKEZ20|IM XHADTH LS RHCE
» occure= AtSAIO|B2 2 SFSEfZ MX| 4=C,
(3) 2 Lt2k= 7,0007H OlAfe] Moo= &0 UL
» (be composed of)= ~2 FHECH2h= £Q =, by 0122] X

AE M= SH| BE30|CH

(4) SOLREH 7IRE ZFO0IA F2|AODMA FtETL HIE 20|
Ct.

> ZO{Q1 FRADIA FIELE ‘HUXS' A2 2 AZEE M
2t

H=H0 A0 HXIA toS 20

)

H==

S 2ZE (beSAt+being v-ed)7t M01 2E0|Ct
(2) 53A QI (tell + 5X0] +to-v) 7} SFEH2 A0{A (e told +

0l {be filled with)7} A Q1 2X0|LC},

4
SilA of ofH| Rt H|(Airbnb)E TS
ol A& == =2tQl AIFO|CY,
7t G Li2tollA o1

Ol FEHO| HEL RS W £

2 S5t YAE 27| SUoh LSO
HOIMSE] 7EEON 012717, 19071
CIH THOI 28t Al0] BIAOIEO AKHEICY, 7f

[
RIESH Rl 2317} WO H7 ZEE 4 ULk

)

CHOIE! HATE U= NS OOJHIAHIOIA SIS IS 4 QT 0] A
O[E7} +4iBte] YAOIE ARSI D5 2l 7| R0 1%
Fe AQXE 1S9 R B2 So £ 97| 412 wHoltt

EHIZ0| (A) =4 AE2 AAEHE HLIER 5
7} MEBIC}

(B) 23h=

E{Q! are posted

MRS 25 ‘MEel= thel0|22 2=SE2! be experienced

TEEM [1¥] Airbnb is an online marketplace [used
by travelers {to find unique places to stay}].

[ 1= an online marketplace% FHZE LHEAFOIC { =
=MZ2 LELE 2EAMY 89| to2™HAL0|H, to stay= unique
placesE FHF= AR 89| to2HALO|C},

[58f] It's an easy way for homeowners [to make
money from their extra space] ... .

It o 2E| AirbnbZ 7t2|ZICE. [ = an easy wayE RHEE
SH2AE 289 toE™HAI0|MH, for homeowners= toS&AC| 9

Ol =0{0]Ct.

5
ofie de el FN0| 81 27 o E3 ATt SFeint
Jdz2 2HHQl el EXotA| ol J&2 AER HOtSHMOF
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BITIT BIT TRtk IS ARSOIH OhHQl ARt RIS
IS 0IB 4 YU BE4 U= MBS YTA|ES FASICL 4F 8
212 AHMSO| MO URE A= ARESR 7|20l UBlo| 82| HAIS
200 QT SIRIRE 1S D213 BASS Bojshs 20| O 2 H(E)S
IR MEOIAE I B FHI7HE0f Ut

SHZ0| (A) B2 WOISOIXIS' H40|S2 £SEQI be takenO|

(B) 150| ‘EHI7H & HEH0|2Z SEfQl be prepared”t ZHSICt.

TE2E4 (18] Situation ethics explains [that {what is
right or wrong} depends upon the situation].

explainsQ| S 0|2 TLA} that0] 0| 1= HAPHO| MUCY thatH
9 0= 2Z AL what0] 0|T1= 7HYQIEF0| 11, SAR= depends
uponO|LCt,

[3™] Therefore, it encourages people to develop
flexible beliefs [that can guide their decisions] rather

than inflexible ones.

"encourage + 2X 0 +to-v,= ~J} --SIE2 ZF[ X2 ]|5ICtet=
2|0]o|Ct. [ J= flexible beliefsE MYALZ St 2] LA HHALE
0|1, ones= 0 L2 HAL beliefsE CHAIGHA M

ct.

[52] Those [who make situation ethics part of their

lives] possess a basic set of ethical rules.

[ l= 32 ZANHHAER MHAIRI ThoseS 4B} Those
whoi= ~Gh= AIZE'0|2t1 SHAIEICE, "make + SE{0]+ &4 &
0l,= ~0] =7 SiCheh= 2o|2, SXZ Hoj X2(0l] HAL %
ct.

6

oM mmz s39 JI0|E 2|0 2|To| MS= MY HR
ECh O[2f3 HAAE 2 A&7t At HAL 2 7
U274 712 4S0AM YEoks ol =20| FH. = =
off OF7|& M O &2 4=20] 0[2{3F HRE QIHHEX = 2

A4S0 HER IS 0IMM, AEZAS 0] I HsHA

EHZE0| (A) MEE HR0 ELE HA0|E2 SSE S MOF SHCE,
(B) BAICHHAREC| M3HAF much higher water temperaturesE= 7|$
HSIZ Qlol ‘0F7| " tIY0|2E ~SEHE MO St

TEEAM 28] This helps them survive rising
temperatures because these “practice runs’ allow the
corals fo gradually become accustomed to the change.
Thelp+ =M +3HA H0{,= ~7} - 3l=E S 20|Z, =X
2 HOf X2|0fl SAFEAER! surviveZt 2T, Tallow + FX0f +to-v,

£ <7} A SFCrel Sjpjolct,
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[43] Unfortunately, much higher water temperatures

[which are caused by climate change] are likely to
end these warm currents.

[ J= much higher water temperaturesS $=Alok= 2 24 HE
APEo|Ct,

[5&8] This can have a damaging effect on corals,

[stressing them out and turning them white].
[ J= Z22E LEH= 2ALE0ICH,

Ho|UASE @

1® 2@ 3@ 46 5@ 6@ 7@ 8®

Ta]
1o
[
>
0lo
ok
&)

oflA 2 H2 AFHS0l 39 Mol oS L=, 32 M2 o
Tol 2712 A =L, A2 BZo17 0laiXLL AY| WEO &
of0] SHI=l= 2Ol HE SoXLL AL OFY & LXK B2 37I=
2 LE d&7tel 3%& 7IMM7E dAg Aol SYUAME HIHEX =
H2E, 0l ZE0IH. 34 AL 57HH2 0l2f8t 0|72 S0ttt
Aol 20| =851 SXEE A 2| flof Ms/tE2 89S o
Jfolil hE AFEFE0] 1 345 MEY HEE MEE & =+ A 0
SF AIARIOIA O OlE71 S240] 517t 0] AFZECE ZXI2tE 11 of
&7t oS Y. o7HH2 S0 85K ZotA| ot H=1 7|
Zo| H2 B30l floll EMoIE=R, 0l= S MMM S0ttt

ZHE0| S M8 si7HH2 &7t A0l =8HY SHEHE AS

2

TEEM [43] Musicians [who are not yet famous]
may take other artists’ music and sell it as their own,

{which is stealing}.
[ I= MusiciansS A8AIZ 5}
:

oh= =4 BAUBAEOIL, {}=
2 HANE AR ks ASH 8

O 4 HAHBAFEOILY,

[103] Licensing exists [to keep music from being
stolen] and [to protect new music as well as older
works], so # is important to the music industry.
SFH9l [ J= SXE UEE= 2AN 889 toRHAITE and2
HE AHZACE "keep+=FE{0] +from v-ing.= ~7t -5k AS

giCt2t= 9|0]0|L, it2 licensingS CHAIGHS CHEALO|CE,



1®

SiM THE 6E R2| 7152 & £22 EEHAS Ut RA= Y £
22 o=et ZS Mt 23 o sils 27 S 7IS01X] HE
S 43S HR SHML MLS HORL 2RV 2 0lge R = bt
THOIHFCE. AF0)| Ol&fet 2|2t M7t WL ot=0] FE HF/AXL
UGN L= Ao | AIMRH. 22EH2 2271 U0l A=A = 5 U
CE 7R N2 90| 22t 2712 st o] 152 s stHE
Lo REl= a7t K71 T 2120 747 Plok 22| H7| AR
O Rel= HFAP] AU s80 AN, 22E O22 Bt =

= MM ZE L0 "RMRK|BH(frightened) ZIEEH 5829
EEE W ot (relieved) = UL

QEE0 @S2 — NYF @ APAAGH= — A=
[m]

TEEM [58] My parents decided to climb the nearest
hill so (that) we could see where we were.
Tso (that) +Z=0 +can[could]+ SAMRH 2 ~517| {5104, ~& &

UAESE0|2H= 0|2 FHZ LIEHHC,

==

[63] We started walking quickly, [trying to get there
before the sun set].

[ J= SAISES UEi= 2AFZ0]T

[Shmi=1

2®

Si4 NE BK LELAQS] F7] sl@Unt & E 3¢t Mz AHsE=
2H U2 =20 43S ¢HASUNL. 25 H20 N 48 =2 2 I
£ FEUE. AEHLAE L5 FO M EAIZ OJAE 71 =0 A 213
HE FAMS UL oKX M= 0l0] O] E HIE= X.J‘ﬂ.* Al=31 O

U Z2517 E0f SR, K ABS 0l3H5H =

FAE oloF X YHFMR. R

O|I
il
r2
pal
sl

721-99122 AHFN
F0 AS OJAF WO 0|2 XS 2|0 et &

YYs 22lot= 20I0.

TE224 [43] However, I already paid for this month
in full, and there are still three weeks remaining.
remaining2 three weeks2| HEIE HE HHsH F= H0 &2
St “~gt M2'Q| 2/0]0|Ct,

[72] Please let me know [what needs to be done next].
SAtknowe| BEZ 2|2A} whatO] 0| 1= ZHYQ|220] ALt

, SAGHAIOMA LiE HdEH 55 S22t
UL Y7L 2 OY 220= A0 AS HIFOINUL. M Al

rir

A

_|

s SHots Ul SYotEHA %7 WE0 L= Hof EH|7F =0
K| UCE. L= LALZ| OLOILIO{7F S ACH St E 2Mol1 SIRE &
70N =6k EUARE AOIALE 2Lt L= 20| A §2 A
US LOIM AMZ2f stuoff ZiCh =2RE o, L= g E71E0] SXIE
S0 AAT 0 20 A AS BUAC. 70| WAM L= 15
ALOJOH ZIAEt. AHZ10IA L= AEO] KI7|X] 24 Sh2l0of EHA{cHoF et
Che AS R0 L= HAXIE EAN. g2 F2EHJAD A>E2
A7|H AL, == HLAHZTM, Lz 0] TIMRIX] =HAsHA ot
Jdzs F 4

(worried) A4H 0| ZIEAR 5t3] HAMOR £9/0)

71" e L7l =0 S (relieved) ZOICE

TEEAM [18] (Being) Late for school, I knew [(that) I

would be scolded by my teacher the moment I arrived].
Late for school2 Being0| M2fE EAITECZ 0|FE LIEHHLY,
[ = SAtknew? SX0| S Sh= YAERE, FLAG that0] A

UL,

[38] [Having spent the evening daydreaming instead
of studying], T was completely unprepared.

[ I= 0|RE UEHE BAHERE, XY AlZte 2 Z40] 17t &
Hl =X 942 AHECH M Y S LEHNZ| I5HA "having v-ed,2l

HEHZ KTt
[63] ..., I saw [that my classmates were gathered

around a board to see announcements].
[ = SAt saw? SHOZ MOl HAFHO|CH to see= SAE LIE

L= AN 889l toREALO|CY,

o -H—

4 ®
5141 Heyerdahl AKiit)2l O|ALS|= ZHAO| SIIHE AAE U
= 2AY MAZS gFEC= A=t A0 5 Davis ?ji‘;il*foﬂ T
HEILICE, Davis Aiit)= 719 27t58 =Xg
SIESCEM 715 20fe] MEXAYS HHFASLICH HARE 032
7130 2+16t0 AZHZ 68 10 SAE
CEZHEE Qo P 28 e VISRt = 3

IT E

E 2| X1 David Wallace2| 7|&udt 2™ Of

i}
-
n}

TEEM [3d] ...
[which was destroyed last year in a fire].

[ = our headquartersE 2H HHdt= A&E 289
CHEAHO|CY,

our headquarters in Woodtown,

=2 2
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[43] Davis has shown [that it is a leader in
construction by successfully handling a nearly
impossible challenge].

[ 1= has shown2| X {2 MOl HAPHO|C},

[7&] This result was achieved thanks to the professional
engineers and skilled craftsmen [you assembled for
the project], and because of the skill and diligence of
your project supervisor, David Wallace.
TXIALSE thanks to2t because of/t and2 HEH

the professional ... craftsmenS MSALZ SH= ng‘_‘ HAHHEAE

0lCt.

5@
ofid L= St ol S EUL AAC. LE 8 7AI0] HEH A
of SRR, 25 S AYE AL UM 2= 6AIB0E Ue
Tt LA BFS S Al 2= SA0IAL W FER WU 2 1sAl
FALZ Qlall HA Ol S0 UUCE. L= AL o THo| HL3UL. HA
7tH|9] SYHO| REXM Lo FE2S UL, AL oF T2 FHL."2F
i U= 2R EE ol ALK a7 S0 e WHE IEA
U HOIS0 HERD Al = IEE W AL 274 == #0132 o
X2t HNSICE e OU0A E=AH BES X0 ERXY, dE=
LollA R0 =4, U= S 7120] MAS| E0HKE Adg LR

‘ZEE AH0Z=E FEROQ. U2 EEE M20| 2R A &

2.2t Jl3Es ;.

2
ht
39
2

IE ZAIR "I 2R H(distressed) WXtz 2T
°| ;gou ‘QZ2E 42(comforted) 7|20|AS Z0|LCt.
— OtESHE @ AlLp= — AOtst

% *EIE ® 37t o — 3Yste

TEE4 [38] Both of my arms had been bruised

black by the painful shots [(which[that]) I had received].
[ = the painful shotsE $=Alote S8 Z LAWHMER 554

A HBEALR! which S& that0] A== ACH,

6®

341 2 2220l UAE Y

MMM T

2 HEOIA ot AFRAZE KME 2Holsl F
A1 Z40] oHsl ZhAL E231 28 ZUCE M= 2 9 St (A X))
TEXRLD HAL| A= U= TIAN| ZESHH, HAF TR SF IHEA
SHO| tish E= A0l SARSULE 12 orgA =, S 220l o
gt 112 CHYOIAM Xl OIS MIQIsHoF SLICH K= HOIM O 7IH2 A
| (ZIAROIA HI*EJ XEI% HQr Bk LT Kz HAR 27
0] o SO{=C ZISHAIE, OIAE ©IEM M| 7HEE2
2 Wolistl HXl= &al-ltr CHAL oF 1, AL ZHE Do ME
LSAIA MM ZEA E-ILICE St HALS 0l H3TH0] A7IE
HEZILICH
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Hets 7ot

t Of ZXIA0 15 XS
BX Ct.

CHE EXIAIA A
b= SJALE Eol=

=
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[e]]

TEEM (73]
lives of my family members by relocating.
toRHAL A0l notE MM toRHALS| RHES LIEIHLE by +v-

ingsE "~ ELEM2t= 2J0|0|Tt.

, I would prefer not to disrupt the

iAo & ARMO| FHOIA RMAES T
0N &L= FATIE 2

= &t At JE= JRs S H &
MIg] 22t1, 0] Aol AE gHXYs LUt 2H7F 2215 HR
3 oM ZR 0|RE0] UL, 2H7H 10 HOi| 11 XIS S0{H
HME A= HoiAlth JHE MYs Qelcks ¢ HAIE MaUUE
O, S0 XS HOIEUAS I IA2 ARG JHeE 5 $XE &
SSATLL 2o 2T I Y2 /0 A= HAE B, D= O
A0 B M2|7|F = 25 UAH A0| E-eL=E As LA =
ALk OE E, 2 AV MES0| Mete XS SE5 YO 2R
ALk 2 H0I SE F, 2= WA= oML 2Y Nets F2 oA g2dA
& AO0IACH

ZHEO OXs =S52 & YUAE 22 HIXIE 1020] X =0 &

A = ‘S 7| S(surprised and joyful)” Z10|Ct,

, a woman [gathering vegetables in
her garden] pulled a carrot from the soil and noticed
something shiny on it.

[ l= 259 02l a womans FHF= SAMEATO|CL &
Al pulled®t noticed?t andz EHHE HZE[RULCE. something ME
-thing 2 ELt= HHAE FZAZE FlOIA A5

[63] But [seeing it on the carrot], she realized {(that)
it must have gotten swept ...}.

[ Iz sASE UEE 2AF20IC { =

M2 MOl HAFEOICH "must+have v-ed.=

S At realized?] 2
~RS0| SHUCH

2t= 50l

8 ®

ofl A 4 SOt 2= 2T DHS0IA At &S HO0F gttt 22/9 S
A2 229 FHOIM MHEALL, R0 07t AlZH2 At S0A 2L
MOk 24 A0 E2HM 22|19 2E 0|RS2 ME2 AF—S
A HE 271 AMAUEH, M2 2 AHE2 1 HES 2822 MEH
Cf o= Als2 TEZF ORI AR, Hoil= S 21-0] et
Q29| AIZZE AE0| HE £E2 0|2|X2] Y2l QUL AX|0f O
= AA7E Eot QUAS. AN Rel= HEES| 7 FUSS E4 X
W=, 252 7SS0 271 7P| ZHIE 2 72 THAIELL AU



2| Ko7 S0{0F2t SHLY. ef 2|= OFA o7]0f U=
27t g2 & X2 RECE A0IUL

AT AU OF20] ADBD Hx0l RO HHA
| -

EOEAE T H™EAHSH=(unhappy and anxious) AZ0|

., our old neighbors began to sell their
houses to newcomers, [who used them as vacation
homes].

[ ]= newcomersE 5 MHsH= AlLE ROl 2 BAHHAL
HO|C}, them their housesZ 712|7ICt.

REVIEW TEST - Grammar in the passage p.41

1 Suddenly, the forest was transformed into a mysterious
place.
A, =2

0l&fet L2 HHALCE

2 Please let me know what needs to be done next.
CHS0l 2210] HSHAMOF SF=X| HIH LAHAFMH L.

3 Class was canceled, and the test was postponed.
TH2 FAEJUL, A2 HI|ZUL.

T HT [= ey

4 The next day, the waste was spread over the garden

to help the plants grow.
Ohs o, 1 A7|= MES0| A2t AE 525 FH0l| e
RAUCE,

5 Our food was grown in our own garden.
2|9 FAl2 22|9f HHA XHHH = AT,

O = T

6 I felt secure when we were greeted by a friendly
farmer.

7t HEe sR2RH

=

WS O Li= AT,

o

CH

7 Both of my arms had been bruised black by the
painful shots.

Lf FE2 NSA2R FALZ 2ol H7 YOl SO AUCE

i

8 I have been offered a similar position with a sports
magazine.
M AL FHX|(AOIAM H|Z5H Xf2|E H|ot 8IS LT

9 She had always assumed it had been stolen.
JUE 5 JA8 ESHUCHT W2I6H 2t

10 Noisy parties were being held, and cars were being
driven on the roads.
AlTI2{2 THE|7F HOPX| 2 R

AL, RS0 20N FHe| 1l UL

UNIT 04

toF ARt S A

1 toRXALC| Hgt p.43
O 1 A1 X2 JHASt MHES 2o 235k= A0ICt
@ 2|2 YH= 102 F2tA FHIE A7) 8
® = S =elsh| floh M2 BRI
@ L= U7 HE e XS EAM 7|8
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CHECK UP p.43

1 To walk 21t
4 tasting
1 to drink

Step 1 3 starting

Step 2 2 finding 3 to be

Step 1
1 S d= A= 2
> =0 A20|22 AL JHE of= toR YA} 20} it
2 OE MESH FIHOZ OMASSHE EE 7= EA ¥
> TR0 toRFHAITE Thilohs 7101 1t0] 2f0F BTt
3 T EANE M2 MYUNE B AlRok= Ao EHOH 0[0F7 |34,
2

E

> XA aboute] SH0|Z SHATL
4 2219 FIIM UL 7He B
& 740|QiCt,
> 37 50| X2/0|02 YA HES = 5T

Step 2
1 U= 2710 23S O =72 XHE OfAlE 20] EUTE
> 12 7150{0|22 TF0{Ql toR A} 2F0F it
2 O|A2 HHO= oML ZH(O| tie F2tet siEMs
2H20] Ut
> MXIAF withe] S 2 SHALZL 2F0F ST
3 VKR O AER2 AR2tA S8 ZFRI0] ERACE
LEILE SAF S#9| toR A7t 240F Bttt

bl
rr

At

=
> ANE

yAA

= ot7|

3 toF ™AL vs. SHAL
O Lisaz= OH F2of X|IT

o

OIsHRIES| 2S5 40N SEAES
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2 A =30
@ L= AEAE Hg [[HEﬂEE | %‘ 2 = A2 &1L
® Jessicas = S0 A
toRFAIet SBAL] OJujy
O ZetojotoA B WXIE 17t = | i) 537t ZRICH

® 27t EMEE & Wit Y

o =
® HiEs HOIS0IX] 2= A2 Yo YFE 7Hush|

CHECK UP

Step 1
Step 2

1 trying 2 Being yelled 3 for him
1 to be cooked 2 tolet

3 not to become

Step 1

1

Dan2 S4{0] H&H 20k 2= 4
Ct.
> mind= STALE SHUZ F{ot= SAOIL
HUEH =255 E= 42 23 E4=2 Z&2 Ot
b MAMLHOZHE "
v-ed)7t 240F B,
27t SAO 7R
> toFARl 2jDj4
tt.

o =
=
01 to2 YA 2| (f0r+%x—17—1> HEl= 2

Step 2

1

2

5

0| 27|= U7t H7| J"|01| 21| 2|5/ 0{0F BHTt,

» 17|74 XRE|EE HO|BER2 53 toRHAHto be+v-ed)7t
St

Lo RREHNM=

Qro Mt

S

> refuse= tORHAIS
ISR =

HUZ FHot=
| [ =—y— Z
> toPArS| £H2 toF

==Y\

O
FEHM0| =X ‘&.E

no

AL HEZ 2E0]

ﬂIlO o

o*'u

oYLt ST B BH
O I M M2 1T SHoHM =Y
@ Sarahi= AM7} OiSt W=7t =710]
® AN B =2 He7t HRHEE

7580l H =

Ct.
e = LE SRS DRI AU,

p.45

fjo
et
+
Al
£Q
ful

O
Elis
ol
IR

A
_O'ﬂ
il

o
rir
=
ol -
mun
ro

>
=2

o

h

ML
r2
ol
_O'E

@ 1 IL E = !

® 0fl0{Zis EXISkE ol 0{230] A A &2 FHL

® 0] Z2IM2 Ul HAFE7} HO2A0 dFEeE XS E.*O% A
0|C

20

+ 45 Plus
9| 7|R= 74 S S0 HetgEs Xlgchk= ol 710" A
O]t
CHECK UP p.45
Step1 1 tofind 2 sitting 3 taking
Step2 1T 2 F, hearing 3 F, to visit
Step 1
1 Lot E2 ZEAES fI8h S &= Ol QEl AlZt0] 2L
> (It takes+Al7t+to-v)= ‘~Sh= H| (AZHO] ZE|CHetes 2J0jo]
cf.
2 MYURIS2 HIHO| Gt= Of 2=55tA| LT,
» (be used to+v-ing)= ‘~oH= O YU=BICHEH= 2|0|0|Ct,
3 =Y U2 0 O X S 2Het 7ER|7L QUL
» (be worth v-ing)&= ~& 7kx[7t QICH2H= 2lOjo|Ct
Step 2
1 L 23Y ol HR21 Ao
» (feel like v-ing)= ~3t11 AHCH2t= 2|0]0|C,
2 S 3MERE 2t = AS 7|iske Ut
» (look forward to+v-ing)= ‘~& g 7|t 2h= 2|0j0|Ct,
3 g2 M0 U= BE UE S YWESH |0 SE6] ZX| LT
> (ABAHEAH+enough to-v)= 51710l S=235| ~eH5H ] 2t=

o|0jo|ct,

GRAMMAR for Reading pp.4b-4T

1

1 (1) fixing (2) finishing
(3) to keep (4) to give

2 (1) explaining (2) being teased[to be teased]
(3) her (4) doing

3 (1) makes it easy to fall down
(2) tries not to eat spicy food
(3) of you to hold the door for me
4 their ability to concentrate
5 (A) To give
EXTRA QUESTION lowering
6 (A) Sharing[To share]

(B) lowering  (C) Donating

(B) to reevaluate

(1) U 22l 4acs

=T = JUX|et

» (be busy v-ing)= ‘~6t=2t H
(2) Q71 0| BLIXIOM} L= 2 3 4
» (on v-ing)= ‘~SIAtOtAF 2H= 2|0|0|Ct,

_,_

HH| I-EI-

_,_

HCyet= of0]o|Lt,
= O OHtc



(3) 2 & &, 1 l= UR 7HM 22| OHIHENIA 7|5 & AT
> (too ~ to-v)i= ‘T ~allAf & 4= gli="0l2k= 2J0]0]|C.
(4) gAl12l 71Ql FHE QUEUlol] A2|= XS LIRS,

> ZIF0{2l toF YA} 40F it

2 (1) T2 MRS RHAle] AsiE k= b, Edward= EE
K|z,
> HXIAf of ] SHO{Z STAF 240 BiCY,
(2) Nancyi= AA19] 710f Thall Bt ZITSR2RE =8 H= A2 Z0t

OfA| =L,

mjo

> =0{2l Nancy7t ‘538 =" 20|22 58 sHAHbeing+
v-ed)7} QLOf BICL, like= toRHALE SEZ FE 4 U SA
0|22 to be teased= & 2= QICt

(3) AFHS2 1147} OFE| HOFUCHD
> STAS| o0y T2 STAL Y0l SHAO|L 2FHS 20
(4) L= TRt R0| 918 WK MESH= A8 0

> delay= SYAME SHO=Z Fot= SALO[C

3 (1) (make+SX0{+=HA H0{) FF0| 4Q1 ZFO|C}, ofnf, =&
of A2J0ll 7I= A0 its M0, T=HQl toR YA = 282 F
off 2Lt

(2) toRFAIR BH2 toR YA HIZ A0fl notS 2L, Mry to-vue ~
ot 1l OfMLYet= of0jo|Lt,
(3) 74501 It 0] toRFAFLIE MO ZHO|TE AlZe| 42 - B

=5 UEUE A polite(FEEH 7T ALEZ, toRFAIR| 2

0|4 F0i= Cof + SXA) AE{Z LIEFHCE,

4

SiA s0 BX Xge= XAHES, 29, J2|10 Chst MY 2H7t
U= OFO|EUA =2t2 X|= Jat7t ULt Snefel 2etatut 228, &
HI17t 25 AE5lH 285 XE e TS0 ULt SeisS e
250| U= A2 010|529 AEYAS EH =1 HBote 159 59
S FHAA E 5 ALt BAECE, TJIA2 010|50| SHE oIS
Afsh=t, 0| SH= A0 58 FLA7I= WOMEEH 28 s82
LHAI7|= AKX 2A0IE 2 5= ATt

EHE0 FEAA EH toRYME Ao BME A6 their

ability to concentrateZ MOf StC},

TEE4 [58] Above all, it inspires children to achieve
their goals, [which can be anything from improving
their speech o developing their motor skills].
finspire + SZ{0 +to-v= ~7t -t = ARSIt 2h= 2/0[o|Ct, [ ]
= their goalsE £ MHs F= HEE Q| =4 A AL
HO|Ct. "from A to By= ‘A0IA B[Sl L2 2, MA|AF fromt to
Hoil 2tz MRIAS] SR 02 M1 SHAL improving2t developing

O] ALt

M2E $7s 0| 8 JISROAE SHHOZ 0|28 4 L=
72 NARITE 01242 BH0| 52 HE 4718 W QS 17| U2
Olc}, HE A7} AILAA &0V Hot2 of HEHR| Sict. 0|
BUZ Sof B2 B IS ZTNIAN 4TS ZahE 4 s
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2224 48] This increases the friction of blood

[moving through the blood vessels], causing wear {that

can lead to heart disease}.
[ ] blood& Aot SMEATO|CE. causing Olots ZutE Lt
EfL= 2AFLR0|1, { }= wearE $AI5H= =2 2| CHHARHO|

=

6

si4 'SR A= MYEHS0| SRE AHES 0186k As HHGI0,
2B EQ2 oh= A0 FA0IE €A 018 + U eitf. Mets
SRolE A2 LS Al2lH HIEQIT QoA HA0IALLY 22 9
d Us MY ZHO| AN, S HME KXot €] MEE2 012
2| Atl7t HE Bi2Y0l HOA|ILL Abts Z2FHO|2t ST oK
2 CHE AFRS2 0|X0| T3t 20| Tt &40)2t 2ottt o2
Mg A7l= 227t HEA AHEE HRSA MBI 28 017t &
Ctal Zo|ct,

ZHEZEO0| (A) F0{ X2|0|22 FAF S 5l= STAF E= toRFATL
Qf0F BTt

st

(B) a good reasong A5t HBAE SH2 toRHAIZ} 210F BHT

TEEM [18] The “sharing economy  encourages
businesses to take advantage of shared resources,
[allowing consumers fo easily access {whatever they
need}].

"encourage + 580 +to-v,= ~7t St & &SI, TSI
o olojo|c}, [ = AWE LEHE= 2AMFE0ICE Mallow+
0f +to-va= ~7t -5t siCtek= 20jo|Lt. { = access®|
Ol2 MOl St AAREOICE

bS

L

=5
=5
[63] Difficult financial times are a good reason to

reevaluate [how we deal with our resources].
[ [& YWHS UEIls BABAEZ, BHAEA howet MEHAL the

waye 27 £ = 2B E the way”Zt M= RALE
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1
Carol2 UM L&[510] ZLES0(0|NM FRE 7|02l UU=H, J4=
‘No Standing’0|2f1! M0l EX|HE LMLt e JH= EEE M
2t g 20 L2 CHAO IR0 71T 29 Tt e T
Carol2 F2et T2 Xtofl S2&TH 49| Tt "o MZ0AM 7|Ct
2|3 AALY" 2T S, IHE= 0, ZES0|0f ‘No Standing’0|2t1
MOIHX|TO| QU0 21T CHERAC, 23 e| 2lTt= I RIULE "4 1
T R0 FRfot= 20| 2R-O0[2k= SO0[0F AFZO| IR0 MM ZIHE

o

S0

ZHE0| @2 Carol? TIFE 7t2)7|=
7kezZIct,

8t LHX|= 2% Carolg

TEE4 [3™] Carol ... was waiting for her friend at

the corner when she spotted a sign [that said, “No

Standing.”]

O™ S&2 ot1l U= CHE SZ0| 7|0|Ee dgs LERE o)
O 2 X&E S&S BATIgYEC =, B ot S&S LAA|
M= LEHACE [ J= a signg MBAIZ Ste 2 HAHZARO|
Cf.

[108] “... It's okay for people [to stand there and wait
for friends].”

It2 7tF0{0|22 X0l to R ™A} LT for people to
SZAE] ojojd F=0{0|Ct,
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TEE4 [43] ... and asked [if he needed any help].

T BAPER SAt asked2] SX0{2 MOCY,

::
N
2

[83] He just stood still, [staring at the man and

waiting for him to say something].
[ = SASEEZ LEL=E 2AHLE0|1, staringd}t waiting0| and

2 HE AZEU.

2@
5i4] RS MZ7H REH|S| T HIEHMS St LIE|Se| FHs St
REACH AMY, = RHAO| 3 WEERS 1 YA X|X0l|A S8 A
Z0|ULt, = LSS 0150] (AE2|) &H0l| 401 OELIR AES
CHE7|THX| & A0k J2iL J= UES0| AARS TIFAO X
2 YT AS =10 37} JOE HEREZ LEYS0| 5252 #He
o St YACE T2iLt 37t OM| XHAIO0| EM[2t D MEHS uf
£ 2052 SMAEME HACH AR 2= A9 wERo| H50| &
2l HO|X|E Hto= ROHTICE 1210 LM = M22 AEE HSU
1, 0 WER0| st ARel £og 7|2)7| oete e EH Y
29I'S 2|0|5k= ‘Eroica’2Hs 01SS CHAl 2UCH
ZHEO @= A2 MR ZHS AH0IEE UHEHSE 7t2]7]
= B LIHX|= 25 HE#S 72710t

TEEM [33] ... a beautiful copy of the work with

Napoleon’s name written at the top.
with + At +v-ed,= ~7t & x='2h= 2J0]0|C}, LSS

0|52 M0IE" A0|22 9| of0|Ql LAHZAZL ATt

[83] (Being) Angry, he tore the title page ... .

Angry= 0|RE LEtHE EAIL2COZ 0| Being0| AZFx|QUCt,
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ofl 4 21 otR7F Bt YOts JAIS FIot HRACH SHXRF 19 &
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274l S . Z2H QOIS A2t LACE SHXIRE E2 2H0AH A
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{she would read the story after she put it back

£4 [58] [Tearing it apart], she told her daughter

o

together}.
[ J= SAISEE LEH=E 2AFR0IC { = toldQ| M=M=

MO FAEO|LY,



[7&] ... asked her [how she managed to do it so
quickly].
[ 1= SAtasked?| ZHSHHZ MOl ZHHO|ZEOZ TO|ZAH+F

0+ SAL2] 00Tt

ro
4o
HU
t}
k=l
g

ZHE0| G2 X2 X|=et AFH0|22 the
LHA= 25 7t FU(&xhg 7H2|zict,

octorg 7t2|7|= gtH

)

TE224 (18] (Being) Hungry, he stopped at a café, ....
Hungry= O|RE LIEH= BAE2E 0] Being0| MEF UL
[63] But he got to work and managed, with much
difficulty, to cure the man.

"manage to-vo= ‘ZHAS|[87]] ~2 SHLHCH 2= 9/0]0|Ct,

managedZ RHF= EA(with much difficulty) 7t S7H0] &5
=h

5®

siA = FAE OFE2 ORX9} 2|0 SHO| EUCE. 120 FA7F Lt
7t 1 & OFRel U, 2 S 2 F0| #IX|0 U= et 2H0A =
Aot WAortl MEE 2RO O AH2 YEJEM], AukotH 2= 1
A717F Lotk SQA| 7| HEOIAG. 2Lt D= LO{LA 2R
S| 1§2 ZOJZH. 7t =g DHHIIAE B4, #E2 AVt FAUE o
A A= UA S3ohol| AL, ZAY| = 282 =Fokdts e
S BRI, O AER F(tiet wal F27| AR 27t =25 M=ot
2letils o OIS Ret Z4 A RS 7|1=20[X] 1l AU

[ J= 0IRE LE= 2AFTR0ICH wonder? SE0{2 9/2At

what0| 0|11= ZHY9|Z 20| ATt

[78] The catcher, [never expecting {that he would

try to steal a base}], wasn't paying attention to him.
[ 1= 0IRE UEHE BATERE BAITRES EY2 2AL HIZ
20l 2H0i(not, never)E £Lk { }= expecting®] SENZE M0

A0,

6 ®

G4 Marcia= 92 IX|2 LICE HdHS Lol FAsh= Ol
oS F= o OlOIF0 Gils77F 2HE Aottt 1 olsvte 1Y
7t M22 J8E AlESH| Hol 2y MR A=E 222 . Marcia
= 2 7K YRS MUK, DRSS IHWA =Z0| =R AL
JeA O4= O odof €Y S i 3024 119 OF =4
£ JHX|1 =0tEE 3HCE Marcias= Z1E0IZ 024501 OFF Al gi0]

0|22 ol2td UZCH JH= Marciadll 4HE O off Z2t X0k

EHE0| @& MarciaE 7t2/7|= BH, UHHXl= 25 IS =[5t
& 2 the artistZ 7}2|7IC}.

TEE4 [1] An amateur artist [who had difficulty

creating imaginatively] came o see her.

[ = 259 Z0{Q M3lAL An amateur artist2 $Alots 2 2
HHHAFEO| D, SAH= cameOlCt, to see= XS LiE=

X EYOl toRFGALOILY,

70

S1A1 ZisAlats T149] MO Mary's K F0{7H SRS S A
2 U Yo JlE 50 1Y YSE A7 A 20 S017t 152
HOSPA| of 7| SUoH AMS CEHCL HIS s X0 88 X1
UCHE XS UUKITL, Mary 2O G B2 AS & WS LT Of
BRI B0| ARMOR FO7H= 3 0140| YU i 0[40] B
5l MR 27t MBS 7156 F2 7ICRID YL 1 0182l M
S MaryOi7l B2 ARIS0| H7I8 7ICIRICt SECHE 28 A7IMR
T 34 X2l AN B SILUE TSI 2N ok 220 1 0f
2 WS H7| 014 WD, Ol I HYS IYCH AT, X
£19] OJEFHQI $S2 Sof Qi UL UEYUS AT

SXZ0| @S HIZ ¢ 23| ARHOR H07H a womang 7127
£ 813, LIBIXIS 25 MaryS 7217I1C,

FE2E24 [638] The woman’s situation reminded

Mary [that many people died while waiting for an
organ] and led her to decide to donate one of her own

kidneys.
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that=O0|Ct. Mead + =& 0] +to-v.= ‘~7t --Gh= O| 0|27 StCt2t
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[8&] In the end, the woman received the organ
transplant she needed, [which saved her life].
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TEE4 [7¥] [Whether we realize it or not], our
ability {to apply the laws of physics to the real world}
is very useful.

[ J= whether7t 0|T1= 22| HAPHO|CE, { = our abilityS 2
Alots HEAH YOl toRHALOIC

(8] It can keep us from slipping on a wet floor or
overfilling a shopping bag and causing it to break.
"keep + S X0 +from v-ings= ~7t ot AS UCHEt= 2/0]0]
O, YAt slippingzt overfilling0| orz2 HE HZAL|RAULE, "cause +

FH0 +to-ve= 7 oM ottt'etE 2|00,
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REVIEW TEST - Grammar in the passage p.53

1

It’s okay for people to stand there.

AHE0| 20 MU= A2 AR

Our ability to apply the laws of physics to the real
world is useful.

LR =

AH| Y

e

ol §&ot= ?=9f

olr
rlo

ottt

o
rir

The daughter simply continued asking.

22 IN 2= A2 A

1B

SH |:|-.

A

A boy was working hard to pay for his education.

2E2 Ao WSHIE K=o7| flofl i Lotal AU

The crowd began to wonder what the coach was
doing.

#HE2 1 FX7t FAS ofd A=A SSotoh7| AIRRHLE
The artist always needed to have a detailed plan.
d0s’ts g MR 72ls 2oz St
Understanding physics isn’t easy.

=282 0fslioh= A2 EX| 2Lt

An amateur artist had difficulty creating imaginatively.

OfOp0] Gil=7ts ddHS LRIotH Y&tots A o2E=

UL,

10 It can keep us from slipping on a wet floor.
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1 ,BjIH,_AI- vs. AHEA} p.55

@ 2 MEE2 7f90ﬂ HE 9IS Z= AS E0E.
® 2= X0l W F2S WAHSHOF Sttt

@ Kevin2 §EME I UAYUS M =

2 ™S YOI|= v-ing vs. ZHE L= v-ed p.55
O M=2 MHES Cilhe A WA S0Ig0H
@ J=2 si2l0lM g ot Ao SO|=stct
@ 147} 2% F2 Lolof| J20| =UCk= A2 =TTt
@ = 7t Heo| I/ 50221 273e I sRCt

CHECK UP p.55
Step1 1 barking 2 boring 3 terrified
4 painted
Step2 1 meaning 2 damaging
Step 1

1 1% b= o X1
> 2\t dog2 4

ZAE 20

LHE WMSLHA Sft.
ZAE H206H JHe HWEXW0I22 XY
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2 U XI2st 82 ol 28 ST6H %oR Lizitt
> TIAF bookZ TS 2AD RS, M2 S UWES 9
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Step 2
1 ‘courage(87])2H=s HO{E ME'E 2l0oH= 2HEI0] cor0lA] F2fst
Lt

» a Latin wordE FO|A =45
Sh=" 0|22 539| 20|E LIEtUE SMEAE 20

3 EAFEQ 9| p-56
@ oitis M2t 2Het= &
@ HHE0] GlofA], AS
® 7IMAM 22|15 X=X Henrys A2 455 A=
@ ThomasE 32 7I22d Z2M AR HMAIZH0 E5700 =4
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® O{H= 710F A S2tM L= EAF 7|0 25 A AACH

4 ZMNTEL AK|2t EH p.56
O Miguel2 ZO| E2{MAM, EHHEN STE =~ iUCE
@ ZHZO0| X2 s O, AFES R4l H4E Utslste= 43
O] ALk
@ ZHoi7l 2 &o| AN, L= Xz 7HE A0fstct.
CHECK UP p.56
Step1 1 Opening 2 Not wanting 3 Located
Step2 1 causing 2 Having slept
Step 1
1 F& 3| UM, Lz 8 ks S0t BT
> EEARL 07 HEE HE Q| BAMTE0| 240f SIEE SR EAL
£ 20

2 Rdoki 210 HX| 20t L= 7t S0IRtS [ LORHT,
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3 X[GHEY 7H7t010] UOIM 1 AFRAR JH7|7F gk
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ATZE 20
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1 =20 Yzfet ZHO| OFAOLS ZEfohM 4= FO| S5 A0F ULt
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O X|gg EHFHM Jeffiz HAS & =0| T3 QAU

@ AIZ Z0f CiL= S0 LE= Q10| £2 511 Q= 5t XIS
I,
+ 45 Plus
UL O 2 5|3 O] LiztOj|A] 03AJ0| SAIRCH O Q2 AfCt
6 (with+(CH)BAL+E2AL p-57
@ Of SHMS2 HiZ0| SO0 ORI A2 ZEE S,
@ = ADf7H A0 ST A2 0ol YS 5k QUL
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+ 45 Plus
ol SAIS 7I5 22 M= Yotz A2 0|,
=0 =S0] 119 M2 "0t "2k11 11 QA= HIUCE
CHECK UP p.57
Step1 1 considered 2 following 3 Judging
Step2 1 closed 2 finished 3 checking
Step 1

1 ZE XS 1251H O|4E 28 3ME E2= A0| Rt
> All things= 2AFLE2] oj0|

= A0|22 59| 9|08 LEILE HAEA 2A0F BT},

2 907t 19 HE MEHAM I
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1 52 20| 2ol A2 g ZAM,
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GRAMMAR for Reading pp-58-59

1 (1) surprising (2) written (3) relieved (4) interested
2 ()T
(2) F, When exercising in the gym
(3) F, with ten minutes left
3 (1) Not satisfied with the results
(2) Having graduated from college
(3) There being no food at home
4 with some houses built
5 (A) threatened (B) called
EXTRA QUESTION Climate, change
6 (A)buried (B) Studying

1 (1) 247t tHelolM RES B A2 HY s2kch
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TEE4 [13¥] Setenil de las Bodegas is a Spanish town
[known for its homes in rock caves].

[ ]= a Spanish towng $=Al5H= T HE A0 CY,
[43] There is evidence [that similar societies {in the
area} date back more than 25,000 years], ... .
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LIEtHLH= HAHREAIS 220
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EfLh= UARAIS £20F

TEEM [38] ..., a leaf disease called coffee rust has

been spreading.
DUARE SATIA] KSEHLD U= LE7H M0 = TASAS X

AN
of7| ?lofl 2Rtz TS| AL

A

[58] Ethiopia, [a country {where 25% of the

population depends on the coffee industry}], is facing

a similar decline in production due to climate change.
[ ]= EthiopiaS £H MHot= SZ0{720ICt { }= a countryS 4
Al

AShE EASAPROIL,
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S MOF Bt

TEEM [4%] ..., the creatures disappear, [leaving
behind a copy of their form ...].
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TEEM [2&] ..., but it is unusual [to see people
hunting or growing all their own food and building their
own homes].

it2 7k=010|12, [ 0] ZIZF0{0|CH X|ZtESAKsee)2] XA HOj2
MOl HIH AL hunting, growing, building0| andZ &2 HZ %[0
ALt
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TEE4 [4¥] Many older Americans, for example,
remember exactly [what they were doing when they
heard of President Kennedy's death].

SAF remember®| SN2 what0| 0|11 ZHYQI2EQ1 [ 17t £

Ch.
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[108] [Discussing these events with others later

on], we cause our memories of them o become even
sharper.

[ ]= WE LiEi= BAFE0IC Tcause + &0 +to-vi= ~7t
5| SHCfEh= 2|0|0|Ch eveng HIWEFC| Q|0 ZASHE FA

0Ct.
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1A OLIAE MEE2 19143 =2 RO = Sot= HEHE 0l
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RS2l OIS IRl A= MZIgHTt 19| X|X| gl0], HE2 A
2 BZ0| XHEEA TRt Aol MR7| ARRICH D22 U2 s
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2 HAE 7HELH O J9 T2 (HESHA) T XEIGHA BME
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= ALOFEQLTY,

EHE0|

5 AHO| 01 Heltle 22 MM CHE "2 E HoR
O0Z @D0= outcomeslt results 22 ZUE LEIL = 0| HESH
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224 [63] ... and began to fight [when facing food

shortages].
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TEEAM [33] But most are somewhere in the middle,
[wanting o use some trees and (t0) protect the rest].

[ [= mostE B2 MHot= EAFLE0IC}. wanting Foil & 72
toEHAL to use?t (to) protect’} and2 HE HZAE QUL

[5%] They favor practices [that make our resources
sustainable).

[ 1= practicesE MWAIZ St= T2 A HHAFHO|CE "make +
SN0+ 58 20{(HEA),= ~5 -5t BHECF ek SO|Ch
[10%] [What you inherit] will be inherited by future
generations.

[ J= 2AUHA WhatO| 0|TI= BAFEE 29| F0{2 ATt

4 @

SA BFo| B Mol YIxIE T2 548 SHp USE A
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O= 20f). Ok ZO|E, 25 W22 2Y S22 ot WSEIXE 9
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TEEM [138] [What makes Lake Hillier, {located on
an Australian island}, special] is neither its size nor its
depth.

[ J= ZAHEAL WhatO| 0]TI= BAPHO| 2 22| 02 MAULH,

‘make+ 50|+ 55 HO{(E&A).= ~& 5 2UEC2t=

o|0j0|Tt, { }= M {TZ A9l Lake HillierE $=AI5H= TAHZA}
T20|C}, "neither A nor By= ‘A BE OF’0[2H= 9|0|2 AL BO|

EHXOR 1S5 eIt R
[38] [Exploring the island], a British navigator came

upon the lake ... .
[ = WS LEE 2A20]C.
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ol Qs ME 92XS ¥ AB0ID o7 DS MBI AYSO)
AT MYYAOR NES FRSIC, YIS PR0|D, WA %42 0f
o S0l 1242} D|SH0|Ck Th HOR OIS 317| Fof, Zeol Z #xt
S0| XIXOR MU B NRS WS 4 UTE TA HUS2 X9
0]l Y= NS SHyBiCt,

SHEO| (A) 4% X% BRSUHZ 2 HHIAS MBS 0I5
SH=" #RI0j21T 5= 20| Xairt

(B) L& AZSUPZIE 3|y AT} O 2R MblAfe] K “Br'0J2}
T 5t 20| it

(C) 2 AT} WL S X% HANA XSHOI RS WES
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TEE4 [3%] ... has helped nearly six million people,
[many of them living in poor rural areas].

[ J= =017} 0t Y= EAREZOZ, many of them living2| 2]
0|4 Z20{0|Ct. them 29| nearly six million peopleS 7t2|71C}
[8%!] [Before moving on to the next stop], the train’s
staff contacts doctors at local hospitals to ensure {that
patients with serious illnesses continue to receive the
proper treatment}.

[ = ME LUEHE BAECR, BALES Q0|8 H=o of
7| 2l H&AHBefore)7t HOF U HRO0IC. to ensure 0[5t=
EXE LIEHE A -9l toR A0 { b= ensure®| =

A0 HYS oh= SAREOIC,
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Sl met of2fet Me= HIgE A=59| Yo7t 0L, 2= J42
ofs A0 =27t 22 M2 ARSE A0IC. I M2E =11 HE Hl
HSO0IS2 A-HYU EM2| /IXIE 27| 2ok /S S8 21 =0 =
SOEM 2FMet XS As A0
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(B) HEI&=0(7t Mo =lof
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(C) EAIXtOf CHSt HES
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TEE4 [63] ..., because it is given in response to
any large, flying object.

in response to= ~0i| Li&35t0{'2t= 2|0[0|C}, flying2 objectE
SASH= SIXHZALOIC,

[78] ..., the range of stimuli [that they will respond to

with this call] narrows.

[ J= stimuli§ MALZ = =512 A HZARRO|CE
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= 5 UL U LZ0| 22 = GV HH, E2 0L B2k Ut
3K Y= AOIL). O|A2 wE2 M1gAsS 20EL. J2|Lt o5&
O O MIAI 719, &2 SH0|7] AIRSICE 0|22 119 M2yAe=2 0]
Ot X1 U= Z2 Bl O WHOF ettt J2210] YHEUE sle 2H
22 S2Ys g3 2 A0ICt. U 20| & m2 & ee R/
ettt €2 1 o= XY A0|t wEH2| MSYA| M=, &
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TEE4 [5™] If it uses as much force as the other
side, ... .

fas+ g +as ~,= ~PE - 8HsH]0l2k= S20|CH,

[7] As for Newton’s third law, you can feel the rope
trying to move you.

TX|ZtE At(feel) + SX0| + XA HO{ = ~7} -5t Y= A

7|CHet= Q0|2 X2 HOE HMEAZ} ATt

mjo

L

[82] The ground pushes back, helping you resist the
rope’s pull.
helping 0[5h= SAISAIS LEHE= 2AZ0ICH helping2| 5%

4 B2 SAFEYQ! resist7t ALY,
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2 90| T 0= 20| HEMX| U0FL 4 USES 0[3ITE 19604
ChOl A2 A1 SME o] US ZMoH UK RIS ASoI0] 0]
#S 0I8517| AIKIYCH A &O 20| 31 SR HHAKIL, O
HAE AB OFFZ B 9I5) 01H5] U2l AIRED ULt
SHEZO| (A) WISHZ0/0] WHEACH UHATL AIBO| AU RHE O]
2 4 ATPS} ZE010] 28 HCIE MY S5 YT AR MEshs
O AFREICH: 248 & 4 Quct

(B) e Yol YS o 2| YTS AofLh= X092 Wi,
LO{LICH 7} rCt

(C) 2YT MBS MH5I0] AZ QS B 20/Ct

TE2E4 1] Surprisingly, the chemicals [that allow
fireflies to “light up’] are used {to identify contami-
nated food}.

[ J= the chemicals® $=Al5H= =24 TAH HHAFEO|CY, Tallow +
=X0{+to-v,= ~7t 52 StCFel 20|jo|Ct, { b= SES LIEHLY
= S 20| 0B EARRO|C

[43] [Adding these chemicals to food] causes the ATP
in microbes to produce light.

[ lE 302 M0l SHATLO|CE, Tcause + S0 +to-v,= ~7f -5t
7 stctat= 2jojolct,

[5%] The more ATP present, the brighter the light
will be,

"the+H|W& ~, the+H|uWg .. 2 ~6tH

ojo|ct.

o

42 O -3ith o
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REVIEW TEST - Grammar in the passage p.65

1 Stefansson led an expedition headed to the Arctic
in 1913.
Stefansson2 19130 S22 &fot= HHME 0|SAULCt
2 The first records mentioning it date back to 1802.

JAE AZst /=9 7|22 1802HCE &2 S2t7iTh
3 Samples collected by scientists maintain their odd
color in the laboratory.
DSRS0 Qo] =& E HES2 AedoM 1 Het 42 7
[BHCY.
4 Young vervet monkeys spot a dangerous bird flying
overhead.
{2l HEIES0|7t M| 9= J0t= HIsdet ME e

ror o

bl

e

=
5 The side losing ground must increase its force.

X|T Qi 2 B O LioF BiCt,

= O=

6 Few of them have detailed memories of those days.
O & 11 30 tet dAMst 719 71T AlEE=2 719 Gl
7 The crew began to fight when facing food shortages.

RIS AR 250 SBEHH SR M| AISISICE

8 Other people want to leave it alone, believing it is
unique.
CHE AtS2 40| S50t Y0jA, A
=

i,

mjo

2 F0X¢

!

9 Exploring the island, a British navigator came upon
the lake.
ds Helold

.

el

, ot E= /P 1 245 0| AW
10 Before moving on to the next stop, the train’s staff
contacts doctors at local hospitals.
Cts o= 0|Sst| ©ofl, Exte ZES2 X[ H

OJArS It Bttt

rio

off A

rr

11 Hearing the call, other vervet monkeys will look
up to locate the threat.
JdMsE 0 HE

271 floll /1€ ==L = AO|H.

I
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10
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12 The ground pushes back, helping you resist the
rope’s pull.
g2 gz o= U2|HA, F40] 20| 20 7= ol MY

Of=S EotECt
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UNIT 06
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1 BAR 30 p.67
O MZ2 712 AEGHs A2 EHAZHRTA] AO| HLO
@ FEL ARX F7|E ot A2 Y00 thall = Y £
2 20T
@ MESES MG HEE 20ct= A2 40| ol S5
ol Z=Ct
+ &% Plus
S 0| At X 2SS BE= A2 LIE &8 sttt
2 "HAE F p.67

@ JL49| 40| AZI5HR] YLHs X2 OHo|ct.

2| 0|2 7HO|Ct,
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CHECK UP

Stepl 1is 2 seems 3is
4 have
1 F, makes 2T

4 F, was

Step 2 3Fis

Step 1
1 O LHEO| YEBIX| Ot K= 0 o
> TEA Whether?t 0|11= HAMEO| 0= M0t HAMER ©
+ Flgettt
2 0=||:|-| A‘I()-” A|-h PAl
> FO= SHATTL ‘2";
3 ST UM eig
» O|FA Where?} 0|11
et
4 2= 00 E0] U= XNEASS R AT
» who O[ot= ARl applicantsS #Aloh= &4 HAEAE

OIC}, 2 HANHALE O] SAk= MAS] 0 BRIAZICY,

njo
ot
ﬁ ._'_

Step 2
1 HP7pE mEEths A0 LIS £87 .
> H&EAL ThatO] 0|1= FAFEO| FO{Z ML, FAES H4 3

2 7t N2 Hots A2 FAUVIE Higte Ag 22U FE A0IT.

> EAA WhatO] 0]T1= SAHE0|22 T SAHT} 240F Bt
3 ZIH2tet BT R FHHIEHE AMESHE A2 A TS HIelet 2E R0

3 3O FHoll =A0{FL HYUNFI 2= HR p.68
O =SS AL R 715 T gAtE LS et Ot MS 0| AL
@ Hge MS0| =Xt f/of At
® 4ol 2 A= 21 S2 Met 29| 71X 7t UL
@ FAHO| U= RHFS2 CHAl ZoHMOF it
® HF | &5tz Al S2 E g3 Zohs AFRS0IT
© ol FE2l Jason2 W7t Chg E7101 2715 #EiT.
4 FO{2t SAQ| £X| p.68
O W7t &2 UM WA 2210 HAME ols d2E ES0L
© Z Hi= Ot2H0i| Ganges2til E2|= Q= SAFO| ALt
® 19 M2 iR SH0I0M JI= E OE 3HE As & AU
ct.
CHECK UP p.68
Stepl 1 fills 2 were 3 offer
Step2 1Fare 2T 3 F, was
Step 1
1 2| =80 Opdistel 27|17} 7t5attt

» XA of wildflowers7t $=4l6H=
A ZA}ills7} 0F BT}
2 HMUTHKE XN AES2 SHe = QIFEIX| UL

» EX0{7 Not until last year?} 2% 40| 2FA L SAE EX|
= HEHOICEH EHQ| F0{= those boysO|E2 =

The scent’/} F£0{0|2 2 &

2= SAR! were

%5H &=Lk,
along the coast= F
FOO|EZ 54 SAR! offer/t 240F 3._H1f.

Step 2
1 2 x20o) = ARE2 A= 715 X QU0
» MX|AFE(on the kitchen counter)7} 4=AlGH=
0|22 E= SAIR! areE MOf BHCt
2 AT 2{0f W7t F0|2 LEE 22 HAS0] SHUC
» SEAROI On the sofaZl 2% 0l 2t 02t SAZF =X &
B2, 30{2l small boxesf| At &5 YUX |A|71 %-’,\- %Afo,_l
lay7} RLCH wrapped in red paper= F0E
TOILY.
3 WS
> =7 A YA (that ..

The bowlsZt =04

B 1 EMEE YA,
. friends)0| $AlI5H=

Ho

The concertZt
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CHECK UP

Step 1
Step 2

go| F0{0|22 T SAHQl wasE MOF BTt

>

IZFESALR HZEE F0{9] 5= X
Janet® 0t OtL|2t 49| XtIHEE H&M2(0|Ct
@ Of2 S0 ofLE X7 By 5 =0
@ JamesLt Lt 2A4T5| SRILT

@ M HIRE

® L oby T2 o

p.69
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o YUX| M0l X LE B
@ 0] 71EI°| EE *—.'%*._ T2 AHO|Z8} SfittES M.
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p.69

@ Y2 IPiIS

® H2 MES

rlo rlo
5 o

1 has 2 was

1 are 2 need 3is

4 help

Step 1

1

HEE2| 2R7FAG0A S S0 ZRIC.

> (most of + HARE= of F|Q] HAHthe milk)0ll SALS| 2 UX|A|
7|22 H4 SAF has/t 2t0F StCt,

T1 OfO| SRt OfL|2t J59| A0t XIFCE

» (not only A but (also) B)7} ZHZ 2 [ Boj| SAtS] £2 &
N7|BE ths SAF wasE MOF STt

Step 2

1

3

4

32

0| SE&Y 2= %%%% Hefi OFZ 2|70l A 2ELCH.

» (all of + BARE= of £|2] HAHthe animals)0i| SAIS| £
7182 54 A fare% MOF ST,

Lof ALLL H & & otbh= AREE 2|F0| 7EX7t0F STt

» (either A or B)7} THZ & [ BRI 221&! 0] youdf| SALS| 4=
£ UX|A|7|Z2 needS MOF BiCY,

= nxs

» (The number of + 24 HAHE=
OE 4 SAtisE MOF BTt

JFoh= A HYlok= A & O L7HAIRE & & & U1 =2t=C

» (both A and B)7} ZHZ & [ SAt= St 24 28

MOF Btk

EW

N S7tota UL,

~o| A2t 2|2 B4 FHat

S ECE=

4+ SAthelpg

GRAMMAR for Reading pp.70-71

1

1 (1) like (2)is (3)know (4) affects

(1) increase — increases (2) are — is

(3) don’t matter — doesn’t matter (4) own — owns
(1) were some beautiful girls

(2) Half of our team was injured

(3) Not only Jake’s brothers but also Jake is

(A) comes (B) leads

5 (A) flies (B) allow (C)is

EXTRA QUESTION dimples[dents], smooth
(A)is (B) doesn’t

(1) Lte] EArElret L & O B4R 2|2 oh= 2S Z0FSHT,
» (Both A and B)E &4 24 FZ6IEZ 24 SAL keSS MOf
St
(2) ME22 ZFE M= R Lol gX| it
> TOZ SYAIE XA
AbisE MOF BiTY.

(3) 22 HmULt Lt & S5 W syl FHEEEoltol /e
Xl HELt,

» {neither A nor B)= B(I)0fl SAtS] =5 LXAIZIEZ knowS M
Of BtCt,

(4) U7 Rog Ye7ts TE AHE0| HE 2= YA g&s 7|
Tk,

> FO{E EAA WhatO] 0| 1= HARHO| MRAC HAFEE Ha F
SotE2 H4: SAL affectsE MOF S

(1) 7 32| E47 2 OIS SOM0l= S713ict
> (The number of + 5= FAH= ~9| '2h= Q0|2 H FG5t
D2 o ZAQI increasesE MOF SHCH at the hotel guests

£ Aoh= JXIALO|CY,
(2) 2= A

dlgo BE M2 SEotthal ZUCt.
> everyone2 e T4 FIZOIEE B SAIRL is2 MOF Bttt on

Earth= everyones £=A16H= M X|Af
(3) L7t BAlE HESX]| BiA|

> HEAF Whether7t IILE

FOIL U= 1 io..'% 07| S0il AdICEH

Qo] SAt= MAKThe old man)ofl 5

XMZ |22 Ha SAFownsE MOF BT

2ol LIt B2 02t 5
AtE EX|A[FH0F BT

(2) (half of + A= of F0| L= HAL| SAL
T4 SAF wasS MO ST,

(3) {not only A but (also) B)=
2 U4 SAtisE MO 3Tt

i

S8 YRIN7|I2R

B(Jake)oll SAtS] &5 UXA|7|2



4
SiA 28 U2 LA o[-0 U1 HE X5t Yst= Hix G
S & 4 U0k 389 2R suk= 2™H0|D 71 ZHo|T 0
WA FO Mk, SES, AA ADYO| BTt 27| 0|0fXICH T O
OR e, 355, YO0 A7 AZSIHM 250| 0[2tE= Al7|
7t 20 2= 0] BE 0| HYT AEY A UAZ 0|0 ZICE

EHIZ0] (A) 2AF Next7t 2% H0 RS2 TR} SATL EX|==
Hl, 20 a period0fl =& LXIA|7A T4 SAt comesZt 2L,
(B) "all of + BALE of o BAKthis)oll SALS] #5 LRIAZ|22 T

SAtleadsE MOF SHCt,

TE=E4 [3%] This is quickly followed by an increase
in your heart rate, breathing rate and oxygen
consumption,

"A be followed by By= ‘A0 0|0{ B7+ YO{LtC} 2= 2|0]0|C},
[434] Next comes a period [during which your muscles
relax], as your heart rate, breathing rate, and blood

pressure begin to decrease.
[ 1= a periodE $Alots BAWHEAREO|LE, during whichE 2H

SAbwhen2 2 HHY & 4= ULt

5
34 Q2 Hof, BZ M4E2 S SO RO HYL e J0|
025t BECH O Y2| YORIThs XS WYL 1 0|52, B 32
S0| QU BISOICY, 0] BS2 UBF BSELH 79| & tf o 22
01t 4 QILK. Ol B50| B2 BOIZVIN 32| 458 5L B2
7| 20|t 5L T3t 87|19 558 OR2H2 o sted, 0]

b mH rir Wy g oo
2
44 N

ST 22 BAHBARY
4 SAfallow?} 2I0F BTt

~9| #'2tE oJ|= H FFoER

(B) M&A} the same principlesS oto| =
AbE HEAL] 201l UXIA7 |22 £
(C) {the number of + 24~ HA=

4 SAbisE MOF i

TEE4 [38] These balls can fly nearly twice as far as

smooth ones.
THis~At+as+&E +as Ase ‘AELCH ~ HiZ2 O ---8HotA ] 0l2t=
o|0jo|ct,
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aA tRRol MEIISS 8

APS] EE0] R=ALOA EHEHUCE O S

t=
OISttt XAt 25 ARMOf ol ZOAH, SMASS | ok A0
HEE9 37| B0 U0 28t F20IC A AEE Fe{oh=s A0
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EHIZ0] (A) To inspire employeese ZHZ MO|
A0 H FSOIE R are?t OtL|2} B4 SAtis7h 2P0F ST,

(B) MXIAtT between managers and employees’| $=415H= Open,
honest communication0| 0|22 don't7f OtL|2} T30l doesn't
7} 2f0F STt

TEEA [43] Doing so requires leaders fo set aside their
modern digital devices and (r0) focus on their
emotional communication skills.

Doing so= =&2| F0{Z MQl SFHAOIC}, frequire+ FX{0{ +
to-v,= ~7t SHES QTSI ~Jt -5t S HRE e 9f

0|0|C}. to set aside2t (to) focus on0| and= EE HZAE|QUCE,

Ho[IALSE @

1® 20 3@ 4® 50 60 7@ 8@

SiA Dl SXAS0| MX2E 7HE 2 g4 S ol 2 =20 3
B0 HXl= Z0[CE JZA ot A2 280 F71HYU A=9] &
ot K& Vs g0 J2oH BHE & = AN Ol2fe RS2 =2
flol 24| LohM 1 =0 2SS floll +=US 7ML FE= As 20 A
Ofgttt. SHAIZH 2150] OfsioHA] et A2 FA: e A0|LL 23 2
a7t 2= &4E ZHpts A0IL 238 FX1A0| 7IXIE 5240] &
1 ALY o= 5o IS 0{0F of= A= OtLCE Ol FAAE ©
7] &EEMHE FY| Y0 YEHO0F of7| HZ0ICH M2t 252 T4

ZEZ QD OfL2t K FEX0 UAME ALYES 71H0F S,

T
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TEE4 [1] One of the biggest mistakes [made by
inexperienced investors] is {panicking after a loss}.

[ ]= the biggest mistakesE $4lot= UARATOICE { }= 2%
9| HO{2 MOl SHALO|LH,
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[53] But [what they don’t understand] is {that
investing is a risk, and #hat risks sometimes lead to
losses}.

[ J= 2HHHAL whatO] 0| HAFEZE 229| F0{0|C}. { }=
HOZ MQI BAER thatd F 77t andE EE AAEUCE

[8&] This is because investors should be focusing on

long-term growth rather than short-term losses.
"A rather than Bu= ‘B2t/| HCh= A'2k= 0|

1®

oA HEEH0El HAKE dE2 LHHC =2 AHIASHA deE
Ct. SHXIZH 0|2 ES FOlichs M2 AFFS0| &M=Z #EE ol
A2 OfLLt. 3F ZMOIIA SlO[E2|E SEALE TRiet A—E0 I OIS
o XAE MEYE=R HES YA 7K O| L2 €2 "RFE fIE A
001 2.77F ORI, “ZIH Mol CHEt MIAIXIS MESHR."ACE Ol At
HE2 M2 AR[0M RO XIS =017] flof AtelHe= MY R
= ASS SiThs AS AIMSIT HIM A% 0|2°0] 0|2 Y += AU
Ct. O] O|20IA AIES2 20| &Thet ARIE Sl A2l =2 AtzlH
I E2{HT ottt O] A= 50| Alet, =0IL M X|7L O
HOtA 2| Q10 2E MHE 4= UThE AS EHEN

=HE0| 2 SEXIE Fiiots 2B HEE G2 S0, AFFE
Soll AllH XS =il eitt= W& 20[0

MefAd 2ZH0 @ "Ar=IOA AH9 X9IE =0I0H 7t 71 M &t

P

QEEO @ XA0| HOft FEBHA] HO{R0E
® EfRlo] 0l Faottt

@ =2 HEofoh=s Mz Uys 2ot

® 2gZs SoItt

TEEX [3%] In a survey, people [who had purchased
a hybrid car] were asked {why they chose their
automobiles}.

= peopleg +AlSt= &2 BAEAEO|L, had purchased
= FH9| A|IF(were asked)ZLE 0|F0| Lot LS LIEHHEZ
HAAZ AME ML { H= asked? SHO &S ot 7HHQR

202 2AR+ F0 + SAL2| O1ROR MILY,

[e]

o
=

2O

oA of As sk JH0| ZA2ZLOL0A HAE U, AFRSHA of
ot MB7|E ArSot=s F&ot= BEXAIHO| o X[F & 20 &
AE|QACH Ul 7EX] HEjO] EAIHO| RAUL. H i EXH2 AFS0
Al Lot B2 =5 2ofe o US| LAHFUL. F B EXEH2 2
AHQ HAXIS B AUL, Ml B ZXEH2 AFS0A E2 AI2IO]|
2 AS QFIUL. 2 2= 0] EXAMH & o A AFRSOl A
S FA YASS BHFAC. 22U T E2ZAE OYZ 01R9
77%7F 07t MS7IE AEEE 20ELLE 2t A0 s Yl
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ACH THE BEAILSI 2, 0|72 S AMRES
[LIX] AFSOl AN S48t A4S 7HEMTE. 0|42 Of
2
=

Ol = Ab=ld 0| MEEE ASo TEs 2o WEY

ZHEZEO| AHSHA oK i M7

£ A=Y As Hee Ao
M, 0l AIHE THRE0] 23 ot ATHI M0 QU= HXHTE AR
B9 #E HEE JINQE ol 507t UQACH= LHEO0IEE, ¢IZto| S0
ZEE @ AMA 40| 7HY HHo|IT.
QEE0 @ ¢Het et @ XA 45 @ 2UH MNEY © FHA
0l=

TE224 [13] Signs [that asked people ro use fans

instead of air conditioners] were placed on doors ... .

[ J= 282 F0{2l M} SignsE #A5k= £ BAHEAEO]

O, SAk= were placedO|Ct, Task+=X 0 +to-v,= ~Of| A -5t

2t QF[ R &5t 2= 2J0jo]|Ct.

[3™] The first told people [how much money they

could save].

[ = SAt tolde HTSE0 J2S ot= UFYARELE 9=
2

-
Ab+ 30+ SALC| O

30

siM =42 2 A2 Mg HS5ke 50| UL 22 22| F9|
of MESAtE SE0IM H2 dEs S I gE2 2y I
o2 Qo =2 A2 YOHL. LASAE2 2HY0| g S8
YAl XIS Efot0] 01Fotal UNRE A2 FESIT}, A7t 0] 22 &
O &HMGH 20| 0]H0] XMZ0| OFEA|= RELt. 22| EfLA 2l 2= Ay
SN SE2 7+ F=e SHE 7HAL U 0] SE2 Ats &3
ds BotEA OASE S99 BHCZ BUF7V[A AF=2RH HOX|
A oIt MefAE2 SiM GE Y 28S flol S42 S+toll AU
O ANz 2H0| X712 S22 /tsd2 W 3|2otAITE MEStAt
=2 ot=2 K2 AIoHL UL

=HE0| =49 det 50| X712 2otz 2AHS E2EHEA =
= UE = UNME A0[2hE HeAE9 50| ter WE0| A=,
7l S0 22 @ 'R2| Z2 dYs BS5h=0] 7HE HESIT

QEE0 O KT S| gF¥s Okl
® X9 HEE HeA7 =
@ {19 Zes YKot

S0 A HHRIE S5otks

TEE4 [28] The flash is believed to have been
caused by the impact of an asteroid.

SHO| AFE(is)2CH 0|M2] A LEILE 222 AHto have
v-ed)7t SSEIE ML}



[83] The chances of [an asteroid actually hitting Earth]

are very low, ... .

=

[ = The chancesE £¢ AH5t= S20{7L0|C}. an asteroid=

00|,

SENEELY

43

oM ER0ME FLATE A5 FOO0FR st =210] 20, 0|42
‘E|SO] LA £7F0|21 AN QUCH LYMHOM, 0] HE2 BQ
e ZE 2= o 2EH =ts LEHH 02 S, 11240 0 2
Aol s ddot Hle 28H =20 UM 0l I 1240|112l
O HiE & ofLUE ArZotAL i AE & of S JUE I LoEA|
T REL R MER F27IE TUAM I ARH0| 220 thet el
= AJY WDt H|Xet =2t0] LSiT), THA| oA, 22| &0l &
Qo 7t 2|, Ol HNe2 28Y &tS50(0H. OASS Lot
21l 7|22 Z|tHe E&ots A2 R0 23 AL

EHEO0| (A) 217t oA A ZH(critical moment)Oil chst

Oll7F 2IZk Ch=0 0|01 K| L

J
|:|

22 For instance(t|Z S0{)7} 240f 5t
Ch
(B) 0IE St St LhES vIZt FoM FelshA 0jop7|ot ez
In other words(CHA| ZaljAf)7+ 2t0F SHTF,

ol

TESM 1] ..,
bullfighter must kill the bull].

[ J= a pointE #AletE BHSALEOICE when?| MEALZ A
QI A2t Q0] a point(A&)2t 22 FHEQI AEE LEHE= 2
0] & = UL,

there comes a point [when the

[538] A similar moment occurs whenever we meet
somebody new, ... .

whenever= ~& M= AMEX2= 20|19 SREA AL
-body2 L= A= FEAIE FOIM SAISHTY,

[8%] It is up to us [to recognize them and (to) make
the most of our opportunities].

It2 7kF0{0|11, toRHAFQI [ 74 ZIF0{0|Ct, to

recognize2t (to) makeZ} and2 HE HZ (UL,

MAL to

5@

a4 17417 9

a8 3oz Qusit 0] 1
si2 ROIEC: 19 57| &
2 SNCIPEES

HE2tE §p7101 A

52 LU0| S0 M2

S0M =

AP O] EABI0A LAZ= Zin e
- dt and Saskia'= H

H0[= Rrlzt OfLie Z=4310]

F2 ARHO| EQACHE AHMO| 19|
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TEE4 [1¥] Rembrandt, [the famous 17th-century
Dutch artist], is known for having painted more than
100 self-portraits.

[ ]= RembrandtE 2% MHsH= SZ0HF0|C}, having painted
HXIAF foro ZX0|2 MOl SHALZ, FHO| AIF(is)2Lt O
o
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58] ... a portrayal of him and his wife [wearing
expensive clothes] and [appearing full of happiness
and pride].

= 749 [ }& him and his wifeE $Al5Hs SIEAIFEZ, and2
HE AZHAC

—

78] ..., [the fact {that he had become a sad and

troubled manl}] is clearly shown in his self-portraits.
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TEE4 [43] According to a study, the average annual

number [of hospital-related infections in the U.S.]

is about 1.7 million, which results in approximately
100,000 deaths.
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were released in India, ... .
[ J= BAPESl F0{Ql comicsE #=Alot=

were releasedO|LCt,

when comics [featuring Spiderman]
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[78] An American company [that makes refrigerators]

is another good example.
[ [= 2X9| 0{2 An American companyZ $=Al5H= =24 27
CHEAPROIH, SAk= isO|Lt.

[103] Making quieter, more energy efficient models,

however, allowed the company fo successfully enter the
Japanese market.
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TFEEA [18] It is often believed [that a person {who

has just experienced success} has a greater chance of

It 7152010111, [ ]7F ZIZ0{0ICt, { }= thatH 2| 320121 a person
SASHE £ BAWSEAEO|H, thatE2] SAHE hasO|Ct.
[8] ..., these successful attempts have no effect on
the player’s next shot.

olojo|ct,

have an effect on2 “~0i| Y&k O|X|CHEH=

REVIEW TEST - Grammar in the passage p.77

1 One of the biggest mistakes made by investors is
panicking after a loss.
EXNAS0| MX2E 71 2 d 5 ol 24 20| S8
EHOIl titX|= 240 Ct,

2 What they don’t understand is that investing is a

risk.
J=0]| O|cH5HA| Zot= A2 EXt

rir
oot

Flet 20[2t= HOIL.

3 Products that are considered green are preferred by
consumers.
TIEHO0[2H HAKX|= S22 AHXSOAH M ECH

=]

4 Many people who purchase these products are not
concerned about the environment.

0|2 dE52 Fiiots U2 MES2 eES HHolX
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5 People who had purchased a hybrid car were asked
why they chose their automobiles.
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et AFHS0| off IS0 At M=
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6 77 percent of your neighbors use fans instead of air
conditioners.

S 77%7F oo Tl SIS o

g9 0|2 ALY,

7 The chances of an asteroid actually hitting Earth
are very low.

HN= 20| X712 SEY 7Isd2 iR RO,



8 Rembrandt, the famous 17th-century Dutch artist,
is known for having painted self-portraits.
TS 17M7| HFHE 2Rl AEHEE XfatdSs I8l A
o=z Kol

9 Using disposable medical items is the best available
solution.
U3|8 o= HES
ct.

ol

t&ot= 20| 2M2| 0|18 7hs3t a2 =H0|

=1

10 A person who has just experienced success has a
greater chance of succeeding again.
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CHECK UP p.81

Step1 1 stronger 2 even
Step 2 1 the more 2 twice

Step 1

1

1
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GRAMMAR for Reading pp.82-83

1 (1)as (2) since (3) that
2 (1) twice as high as they were
(2) it got more and more interesting
(3) so that she could pass the audition
3 (1) As soon as I entered the room
(2) The more, the more
(3) No one in our class is as kind as
4 that it is more harmful than beneficial
EXTRA QUESTION @
5 (A)If (B)As
6 better
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TEE4 [13™] Most people have a specific position

[(that) they prefer to sleep in].
[ = M3liAL a specific positiong $=AlotE SM2 AU BAY

O|CH X2 A UWHALS M| ATt

R R

[28] However, sleep experts disagree about [whether
or not this position is good].
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TEE4 [18] CrossFit is an exercise program [that

combines many different activities].

[ J= an exercise program2 $=Alot= 2 LA HHAPRO|CE

[2%] Participants exercise together, [motivating one

another].
[ I= SAIEAE UELE BAHLE0]C
[58] ..., they remain to cheer on those [who are still

struggling to finish].
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handles spoken language.

S229| =02l the left hemisphereE Ax
Z 20|54,

and it is the left hemisphere that

X5k= fitis ~ that ..., &

(73] So next time you can’t hear, try your right ear.
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] “Behavior capture,” [a technique {that

(however)

[58] This type of play, [which includes card
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can be used to train puppies}], is different from other
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and other goods] is known as “virtual water.
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] Water [used in the production of food

| For instance, producing two pounds of meat
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takes about 5 to 10 times as much water as producing
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two pounds of vegetables.
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[3™] The wavy lines of these stripes blend in
with those of the tall grass [that grows in the areas
{where the zebra lives}].

those= 20l 21ZE The wavy linesE BH= XAICHFALOICE, [ 1=
the tall grassE MYAIZ Sh= 4 BAHARRO|L, { }= A2

the areasE MALZ St= BARAFEO|LY,
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[1&] ..., and it is interesting to see [how their
roles have evolved].

it 7120{0]| 1, to see 0|5t} RIZ=0{0|C, [ |= EA} seel| 25
Oj2 MOI 7R Z O 2 TO|Z AL+ 0] + SALC| O{z0|Ct.

[28] [Once (being) used as guards], they later became

companions.

[ J= AlIZtS LEHHE BAIFEO2 ) used A0 being0] A2t
Ct.

[32] ... they are serving even more valuable roles.
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[33t] Consider the fact [that children are

more likely to go to their mother when they need to

confess {that they did something wrong}].

[ [£ the factE B¢ MHI= 49 HAPEOIC SA} confe
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[824] The number of people [suffering from a

Vibrio-related illness] has been higher in recent years

in both the U.S. and northern Europe.
(The number of ~y= ‘~9| &'2t= 9|0|2

SAthasE 4CE [ Ji= peoples $A15k= SXIEAO|CH

B FgotE=

[10] It is believed that rising temperatures in the

Atlantic Ocean, [which are caused by climate
change], are to blame.

[ ]= rising temperaturesE E& MH5H= Hl&X
HAFHO|LCY,
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ofl s SAFES2 AS0| U2 D&Y S A2 9 5b7| W20,
U2 0l&d THR) AFRIES0| A BRI M2SX|E REO A
o, D&Y 7I0|E'S 2= A S0l 2f=2| Djsd it 0| F0t= 0j&d
Hl= EIO|0E HEE SAE ARSI AJACE (D|&WS MHS0] H7|
o= EO|0|E HASI=S B ¥l ‘0l&Y 710|E'= 1 34
HE5S UEol7| floll AS0| XAE AM=ZE Bt 1 21} E0|HE
A SHAEE Sl¥ez O SAHESE SEUH. AA2 F=2 R
AW NS H Gt FRrA0 S85EE ZEolil AAL 7H0|E
AL R17|7F FOMKIA}, 1 HRlE ZARMLEA AFo=2 SAHS
Otz B 1M 25H, 2 M 7t Djad ™2 oTs| 34
Hol &2 = U= 2119| 0| S olt=2 FOrU

ZHE0| SAHE G712 |YS T2 710|120 2ot HELZ, ‘T8
& I10|=7F LSO A7|2F Z10] F-GOi| CHoli 0[0F7 |Gt ALk, ek
Dl=Y0| AIHSUA EOI0E F7 M2z HYotes HEH=E WS

TE=E4 [13™] As restaurants are proud of the Michelin
stars [that they’ve received], you might think {that the
Michelins themselves were food critics}.

[ = the Michelin starsE M3ALZ St= 552 2 HEAREO|
Ch { }= SAtthink2| SE0{2 MQl HAPHO|C},

[53f] The original Michelin Guide promoted restaurants
in the hope [that it would encourage people to buy cars,
and therefore tires ... them].

[ = the hopeE £ Hst= =249 HAPHOILL it The
original Michelin GuideE 7}2|ZICt. "encourage + SX0{ +to-v,
= ~7t ol & 2ol ojojo|ct,

[83l] As the guide’s popularity grew, the brothers hired
a team [to anonymously visit restaurants as inspectors].
Ase ~Et0f ma2rol oojg LiEH= FEALOICE [ J= a teamS
AlSt= HEAE 89| toRHAMOICE [ ] Fef as= ~EAM'Q| &£

2 MOI MX|ALO[CY,

o 4

[9&l] Today, a three-star Michelin review remains one
of the highest honors [(that) a restaurant can receive].
[ J= MalAL the highest honorsE $Al5H= S%24 T CHHARY

2 EACBAL thatO] W= ATt
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REVIEW TEST - Grammar in the passage p.89

1 If you want the puppy to lie down on command,
wait until he lies down on his own.
ZOFX|7H HEO| M2t Q7 |E ABICHH, 17t AA=Z Qs 7t
Xl 7|CkA2t,

2 One person might play baseball for the competition,
while another might enjoy betting on the outcome.
O At B™S fIoh OFLE EA| Z=X|2F, BHHOY| CHE A
2 2o 7| A= AS SERE ZErt

3 Although its stripes are black and white, the zebra
can hide effectively.
HIE 11 SRL= 421 S0 X2t
= & ALk

4 When people are alerted to this, they can get help
or go to the hospital.
AES2 0[0] CHall 21 S HOH =5

AL

njo

2AL E

o

oz =+

5 Children do this because their mother is less likely
to get upset than their father.
Ol0|S= O{H{L|7} OtHX|ECt 215 E & A 27| W=0] 0|Z
Al ettt

6 Once your puppy realizes that he will be rewarded,
he will view following your orders as a game.
UE A9 ZOfX7t Hef 2hs A0|2t= AS L =F, oL

= 4o FEE M2s AS AY2= (E Aot

7 Such birds send a signal to others that they are
strong.
I8 MS2 HE MSHA 250] dottt= ASE BHO}

8 It is essential for our health to drink as much water
as possible.

29 AYE *lofi Jtset et B2 =

=

mjo

OFAl

rr

20| Hsi,

9 Women’s blood pressure increases less than men’s
in response to stress.
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10 A three-star Michelin review remains one of the
highest honors a restaurant can receive.
M JimE| Oled =H2 6N SAR0| gs 4 U= 3
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4 BAHRA p.92
@ Z27} £0K|H O & T 7S FOPP|S YL
1 ZAZAR At ZF p.91 @ |7} X|LHEHO| 2T T RAZ 51015 H= 7| o{m)?
© UE 848 MY A= T /I0IES otY? @ M2 AR0| FAE O|RE HHsH FAICH
® Paul Potts= X|0f7} 7tX|2I5HK| Q4L SHXO|LE @ = 22/01H DA ARLS0| SAIS X EHSIE eSS of
@ Daniel2 {7} HgHH THZIS ATt off F=RALC
+ A5 Plus + 45 Plus
Jacob& W7t HAEILE 7|2 &~ U= RYUSH AFFHO|CE, 0|2xE L7t 1 YUK gzdst ZO|Ct,
2 BACHA what 091 XZF2 U7t 1o ©Z2 MEGH0F & A|ZHO|Ct
@ 1 ML HEsh= A2 F2 JEun F= 3 2H0|C,
® U7} Djafof S12 Br2Hs 0 CaH KHAIZIS Tpxia, SHECRRE P92
@ 22 ABIS0] HR07 2E =2 High= Z30] ofL|Ct, Stepl 1 how 2 why
Step2 10 2X 3X
CHECK UP p-91
Stepl 1 who 2 What 3 whose Step 1
Step 2 1 wholthat] 2 what 3 who(m)[that] 1 iﬁ?lﬁj_;ﬁg% O Ltz 201 Oldel =& 200 |2
= AHS LEH = Ml the wayZt Mt FZ0[22
Step 1 AR how?t I,
1 ;I—Oﬂ O 7h=X| 7 2771E U1 U= AOIA! 7t S01E+ 2 Lf= 95 7t SIS HE5HK| 2 0|92 Dar}
. » 0|RE LIEIE M3HAL the reason0| YO T2 ZA AL why7}
» M3HALT} the person0|1l, BHAME QoM =0 &S 5H0F 5f XL
02 77 BAUWYA who?} QH0F Bt
2 PHEOR E AL MES 4T 3 JR0[QIC Step 2
> 2R0M 20 Q&S sH= M 0|30 the thing thatlwhich]e] 1 ORI U HAEIFI/EAE Bt ALIEOIH,
o|0|Z LIEfL= BHACHZIAF WhatO| QFOF Bt » that2 the coffee shops MIMAIZ St= SHZ BHHHEAL|Z
3 L= 20130 22 BRI YelSS SOfIR QEL, £ d& Jhssin.
» ABHALZ} moviesO| 1, *.jé_lefQ} main characters?7} 20| o 2 Kevin2 FPIS0| 02021 =5 BT,
0o QOB E AR A HHAF whose?} {0F it » which= a playS M#AIZ oh= S22 LA CEALO|X|TE, 0]
Step2 WPl Yo0R g LB
_ ) 3 L= Anne0| 12| SEES #2[5t1! Z2istk= H4Al0| 030 S0,
1 S22 el) Xt 010|S2 A5 220IA Q&S| =Tt > BASAL how?t MEAL Q0| MO| HOB MAIS} BAEAL S
» ML} Children0] 1, ZAAPE QO M =0 HEE SHof SHE2 Ch= A2ra & oirt
4 HAHEA who EEE that0| QF0F ST,
2 0| LES HEES L7} S0 25| B0 SE5HM W HOILL 5 mAALS] AlAT 2 0.93
> MEAZE Q1T BAAE QOIM SA} received?| SX0f AES O W ZRHE Stevel| 2Jof Y7IM=, 17t AAS AN E
SHOf ot22 HAHCHHAL whatO] 2t0F StCt, o act,
3 HEWHRUS SHE AR 1N 271 e, ® 1 9L XS TS ST Y0, IHS I HKIS & 4 UL,
> BB the personOlal, BAIAFE S0IM B too] HO ® Li= 0120 Z ol Fole|, JR0IM Li= metsty T2 &
Aet2 oli0F S22 =82 HAHHA whom E= who, that0] 043t Z40|C}.
Qf0F i, + A2 Plus
3 EACHZALO| AB¥ 0.92 L= fEet HIRE EXU=H, Ol W7t H5] ootk RAME A
0|},

O WU I 6AP} g Fote ek 7ids Ak A QA0

43



6 SHEAA p.93
g BIEAIZ Z0IC),

@ Ut 1= A2 FA0IE 01|71| Z£2 M=0| 2 Ao,
@ U7t 20 #X[H AKEX] HpA Lo =22 ol &0
@ U7t 2 R2E 0= HHER UE 2l RO US XOIL
CHECK UP p.93
Stepl 1 who 2 where 3 However
Step2 1 which 2 whomever[whoever]
Step 1
1 0] &2 F=RUSHA FEEHA=, IS2 XS THAQISOHA =
2FACE
> the English(Z= AIZE)E MR oh= ASH 82 =4 &

HHEAL L HR0IE = who?t Mot
2 4= Hof op=0 HO{ot=0|, IR0 = e AR
= me Zo|c}

Y=ot &

> the theme park(El0} I}3)2 MAIZ sH= AlEX 20| 2
EAPLLHQEIE 2 where7t AGICT,
3 1320| ofF 2| HorstHatE, & 22 X2 eltt
> Y Ot 2| ~otEf2te’2t= 20|7F MHESEZ SEEAAL

HoweverZ} 240f ST}

Step 2
1 U= M AIAS J AU, IH2 W OF 20 20E X0|
ch

» the new dressZ MAIZ GH=
APZFEHQSICH 2t whichZt 240F ST,
AME

A& gHel 252 A

2 U 20| SRSt N2 ARE SFEX| MEfE 4= QL
> 2L ~Gl= AR FLEQ 2J0|S LEHH D, AN LHOIA
2X0| a2 o= A whomever EE= whoeverZ} 210F
it

GRAMMAR for Reading pp.94-95

1 (1) why (2) when (3)which (4) where (5) what
2 (1) which (2) wholthat] (3) the way[how]

(4) However

3 (1) that she can get a scholarship from
(2) where many independent films are shown
(3) Whatever the actress wears
4 what is happening around you
5 (A) that (B) who (C) that
EXTRA QUESTION healthy bodies, healthy minds
6 (A) where[that] (B) the way[how]

A

1 (1) U7t o SCkeH HO[=X| 0|RE L & 4= AU?
> MEMALZ} O|RE LIEHLHE the reason0| 22 ZAHRAL why7t &
EH-EI.
(2) L= ZI7 S0 84 o128 s T AJ=0| I3
> MRBAZE AIZES LIEHE the daysO|22 HA AL whens M
OF 3fCt,

(3) 1 Z=2 017HHI0] &2 S, 0l 017 BMES 7EMCERIC
> o H TR7E A0 L, HAATE H =0

A AL whichZ MO

(4) Ltz 32 2H|I2 Z0 S0, AZI0M ZM ALZo] LHE

SESLEERS

r

(5) 0|4 LH7t Kate| MU MEZ A Z0|LC},
> MSHALTL T, BAIAE QoA SAF boughtQ] 20 5t &
Of t22 ZA YA} whatO| 2H0F S},

(2) O1H| Li= OEAtOM 225t g :
> MEHALZE @ manO|id, BAARE QHojlM 0| H&ts &lof st2=
Z74 LA YA wholt thatS MOF SHTH,
(3) 01240] AngelaZ} D2 288t SME |XIE 4 U= WHO|CH
> HHRAL howet H13HA} the way=
Lot 0t
(4) I 2H7t otR2] MFE2ts, J= RS
> 2oL O 2| ~5tC{ate’2tk= 0|7t MHSEZ SEEAAL
Howeverg MOF StC},
3 (1) acollegeE MAUAIZ St= =52 A UHAL that0] HXIAF from
9| SE0E M¥ D2 MX|A= BAAE 20| A0F SH
(2) M3A} movie theatersS =Al5t= AElS She BARAES £
2 FOI0[EX2H= 9J0]2] Whatever?} 0|11 HAHE
0] 22| F=0{= Ml 20|},

4
SHA UVIE M A2 Had| FA0| ZEX[A UE O MZI0|EX| 22
F71= dR(0|Ct IAS Gl XAt 71 TH3HE L= A1 HIXGHT,
A2 OX HOGHA FAIGHHM 40| L7l= A Gilg AF K0
A otz As M0 2EX 40| i K= A2 GAIQ| 40 of
off BCF LI2 ASHE A8 =2 4 QUCH B0, SEX! 0] oM
ME S HMO| HOF RAZE L7 ZA9l FHOIA LojLt Qe
US EFSICIT LA 8 & £ ULt
oo

ZHE0| ®™X|A of 2X07F URSIEZ A HAL what0| 0|11

HAFEQ! what is happening around you?} &5}t

TEE4 [1¥] Keeping a journal is simply the act of

[putting {whatever thoughts you have} into writing].



[ [= the actE £ H¥st= SANTFOICE { }= putting2| =&
{2 MOl SEHRUAAPEOIC,
[2&] You simply relax and write down [what you are

feeling and what is bothering youl.

write down2| S0 Z HAHHAL what0] 0|I1= HAME 5 747}
andzZ HE SHALAC

5

SiA ARX ME[SH2 ARLXTE M0/ O|X|lE &S 2Mots A2

A
sto] uz0|tt. A2 2
O

S 5YS YA ol MEE = UL &
Ix YeSAE2 23S UEH2R ol MFE2 AN A AT
Of Otz At Y= oy Y=t 28 M7t E7] Hoi| A==
Zelots 2Qds SY2ZM HESfAE:2 180] 4308 k3 =+
UL AR= HE|ofAbes Lot M7t et X2l XS0 2ol 0]
OF7| L1, Z18S 211 HSots Yyoll st =215 Sttt
ZHE0| (A) MEAZt psychologyOld, EAARE Q0IM 0 S

SHOF 5122 Z=Z4 BAHCHHAL thatO] 2FOF SHCt,
(B) MALT} people0|L, HHAE QoA F
Z{ ZAHHA} who?t 10F Bt

(C) AL} everyday problemsO|1l, BAAME QA SXO HES
offof SIEE FXZ A CHHAL thatO| 240F BHCE,

TEEXM [78)] ... and give them advice on [how to

elax and (to) focus].

[ J= "2 AHhow) +to-v,2 MX|A} on2] SX0IZ MU, ‘~Gh=

B o2 SHMSITH T THO| to AL to relax®} (to) focus?t and

2 85Y AdA5ACH
6
SiA MES| oF Atihs ZEet E47F 2 4 UKD, AHER2 A B
SHoP| AHIHE SHC YEHNQI EAl= 50| RO el ZEtte 40|
Cf. 28l 22 Ahlel ZHE 10| £5h= 2, ChA| 25l A THL0A
S0{0F BHTY, ATHEO| O{EA| L77l=X], STHE0] O8N §XHE LU=
K|, 2|10 HTY0] FAO0AIM Hols A0 HEEeEMN Fh2 Y

=1 QIFE= AE & = QS AO|CH

EHEZE0| (A) MYAIE HAS LIEHHE the place0|22 EAEAH=
wherelt thatO| =|0{0F StCY,

(B) S LEIL = MEHAL the waylt ZHA S AL hows=
HIEAl & & SHLTE MO SiCt,

H &+ %Yl

TEE4 [4%] By concentrating on [how the other
person feels], on [how the other person was hurt], and
on [what the other person wants from youl, you’ll

be able to give an apology {¢that is both accepted and
appreciated].

XA onQ 2K H&2 ot Ml 719l [ J= EAAPE Ol &
0|H and2 2 HAZEIQULE { 1= an apologyE MAMAIZ 5t= F
2 LA CHEAPEO|CE,

pp.96-100
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TFEE4 [113] People [who change their lives] do not
question {whether the changes are possible}.

[ ]= Peoples MEALR St= 4 BAUWHAPHOICE { }= SAt
question®| X0 ALES Sh= FEAL whetherZt O|T1= BARE
O|ct.

[12%4] They simply focus on a change [that they want]

and do {what is needed} to make it happen.

[ = achangeS MHALR otz S5 BAWHAIHOICE { }= 2
HHHAL what0] 0|I1= HAEZ do2| SHHZ MLt "make +

S|+ SALEH, ~8 5P BISCrats Folct,
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SEF YU AL O A5 S ot
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[AFSICE (B) A8 &7IAEE MRI(KE| 38 G4) A70H0
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(C) Tzt HEISIXIE2 0l= QI7t0] 22 @5 UECZE HUS ME HE
2 ST WZISTt, 1S50] 2tef MEHA FHEH 0] =7(9f QI
2 8 50| 01RO (A) 22M He= 489 11 MS IS St
HEY AES 2. =719 QZh2 HEO 1SS 2 I A9
WSS HHYOFDE BiThE RS LRACH Ol BEI /A Hot MEE =5
el

SHZ0| R 2t YR Ho| HBOR 91t Kol 0T 2
S0 Z{Z0f ot QIztel ol T3t ME LSS NS (B)7t 2
%, £7) 91210] {HE 913} S0l ZTYCH LIS (C)0f 0/0f, UZ)
ZD2 7| 2 B S} LSO £7| 212H0] FHEF L0 HOF
= 882 RO LSO (A7 2 20| HeIARL

TEE2M (1] Any type of rejection hurts, often more
than we expected it to (hurt).

toF AL Foll= HFE= 07 hurt7t H=F=|RACH

— =

[7] Test participants were asked to recall a recent
rejection [while lying in an MRI scanner].
[ = SASEE LEHE 2MFE2E 902

HEALS MRBHR| U

F&ls| ot7| il

[82lf] Surprisingly, activity was detected in the same

part of the brain [where physical pain is experienced].
[ = M3HAt the same part of the braing $=AlSH= BASEARO|

ct.

SfLtel EHAQI AN A2 VA 2RI, 0|H=2 MRS 2
off 71 S5l Al Et O] H2 HIY 525 SHAIA, ME01 4 &2
HURIE 2A e ) 0IRE2 ZHe| HIgS

th. (B S
| 250] QHXIE HASIES S= ¢

OILY. 0] EH% = 2 7HA OlR= 22t
MES0| 2fZH T2 U2 HI#5E7| R0t (C) 01 Xfol= 2429
AMS0| I 20 A= MO EHZRE LU= 4SFERE S8 255

L

St 012 M7F LallE MeElel &g EUEL. (A) THE M Hol A=
2E Mz o (mE) ¢ = l=

ZIeHAM Z1 M7t DjZohA|H FI= 0|Sotil HHE M7F 1 A2|E 2=
THZEO| M7t BIASH7 |0 VAL tH0| 2X0[2t=
CHRO| HIl Al MS2| O HA] Eofof ==0| &= 0
21, (B)OIM AFE AS0| AZHTHE NER L=
Yoh= (C)7t O[Tl & (C)2l DRX|tofl AZE M3t A0 thet F7t
Hel LI8E M&dts (A)7F 2E X0l 71 ReiA gL,

I
2
[l
ny
dan
=2
<
>

TE224 [13] One common formation of migrating
birds is the V-shape, [which is most commonly used
by geesel.

[ J= M3HAt the V-shapeS EH AH6}
AHHAEO|LY,

tng

rir

A& 889l 52

el

46

[43] Every bird [that is behind another] experiences
this reduction, but the lead bird does not (experience
this reduction).

[ I= Every birdE MAIZ Sh= 2 BAHAFHOICE, another
S CI2 Af'E 9|0|6H= CHHALO|L, does not F0l= BHE &= 0f
THexperience this reduction) 7} A42FE| LT,

[5e] ..., it moves to the back, with another bird
taking its place.

"with + (CH) ZAH+ 2Ab= ~7t -8 AZ'2h= 2J0|2, HAHanother
bird)2t A7t 5&2| A 0|2 2 SMZAHtaking) 7t A ALt

3@

54 2EMAE0] Z7|0IN Sol HotT S [ 1SS =5 SEES)
2717k BAS} Y2 I HOITT YT, (C) 0[HS DHGIT Ut M
459 ZHW XD 4+ Y6, 0] H4S07= SHS0| VS 4 9
HE2 XOp HOIT GRUSS O Z7|S 01l ADER MASS Y
HORN OIS AlEH BII2 YCH (A) MASS TSt 20| Y= BA
BIS HI, 27| 0| ADERQ| 37|15 71 B LiEH 88 7127|=8
QIYUICH (B) HPYSS T3 EIBS HITL| Ash Z7I0IM2 2t 4
4o MRS SMIUC 1 ZN O 52 EIBS 7|28 M450| W2 B
22 7|23t M4SHC C 2 B2 AMUCID BYSS HOIFCH
SHZ0| 77| 4H0| £ M4 SEEY I7|8 RS I EO=
01Xl 3 CSOH 04 BITHR 77| HX0] O S U= SEES 2717t
A7 QMBI (C)7F 211, 0] S th3t AT LIS2! (A)0f o]0} o
T ZUE HYHE (B)7F 2= 0| NI~

TE=E4 [78] The results showed that those players
[who recorded higher batting averages] reported seeing
a larger ball than those {who recorded low batting

averages}.

[ = 52 BAUNBAEZ H#ARRl those playersS $=ABITE {}
Q40| thoses A0 LI2 =24 HAKthose players)2| EH=S

Qo 200 CHYALO|LE, { H= MWA} thoseS F=Alote T2 EA|CH

SAEOI

[10&] This can be contrasted with the experience

of struggling athletes, [to whom the target looks

incredibly small].

ASte 27 BANEAE

[ J& MaliA} struggling athletesE 4=
0|,
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S xZ20| MEQl BHE = AHIXSOIA IR SQoiMM, ditH 3
g YA S HetE Op7|AZAC EMEIE MZAZD X[BIAQ! 2K
2 0|=5t7 E Zi0ICh (A) O] EMESS JE0] M| o™ MES I
=2 o5t i
=21 4
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TE224 [13] A product’s brand has become so
important to consumers these days that it has caused
a change in the supply chain.

"so ~ that ...,2 ‘Tf< ~allAf --SICHEh= QJ0]0|CH,

[82] The reason [why manufacturers do this] is that
they fear ... unless they cut costs.

[ I= The reasong MEAIZ Sh= ARAPROICE. unlesse A7

O A S 0|I= H&HALZ " ~obX| 2 B'0[2k= 50|L,

=o.gu1
L)

0 I
o W N o g
_O'ﬂ
rir 4n
AN}
PN I:;-
ro
i
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om
-
(@]

HI=E22 UL e Dt=2= At0|9] B3 9

m T QUCk J2IL 259 2 242 G|

A

MA <]

2O O 0|MOR &2 227 (C) I 1469H0=2
2f7b=0l, 1 mofl ARl M=s 57| fIsH 7AE[ofo] 2
50| SSEUCH 2Lt FHHZL(0te] TiHS| ==Xl I
=2 AT SZS QYL (A) 0] LUHS 71HZL|0te
C HIEZZLtet 7IAE|OF2| FC OIEZ|E 70 F7L AIR2= 0|0 &L,
O|=0], "g&ol'2t= 0|9 ‘Real'0|2h= Ef0|S0| FC OI=2|E0A =

Fedl, ol 7HEHELO0RISE 12 A SHERICL (B) 2 FC
HIZZZLI9L Y OE2|E AL0|Q] B2 ALELD A1, i A7(7t &

t
Ho| gxlz Mg E HE 20 0|A2 F7H 07|l XL 0| L= X

0l

[=
uin
i
N

Tomn &
rlo
52
Lo &
2 g W

o XpEAQ 2H0lCt
EHZ0| FC HIEZMZLet Y Or=2|=9] ZH OjA0] 22 NMEH
UAA A0[2k1L BF FO{El TH=oi| 0101 O] B 2AI0] K|, O{EA Al
A U=X] HFsk= (C)7t 2 &, F XY 749 -2 0| 0EH 5+
o2 0|0{FE=X| 0[0F7|ot= (A)7F O|{X &, OFX|o2 QEYTIX]|
A&EE F 8ol Zds d¥sk= (B)7H e A0| AAAGLE

TEEAM [53] ..., “Real,” a title [that means “royal,”]

was given to FC Madrid, {which made the

Catalonians very angry}.

[ = atitleS MYAZ St= T4 BAUWZAEOIN, a title ...

“royal”2 ‘Real"d} S2{0|C}, whiche Y0 L2 & MAHE Ml

2 ot AL 8H9l T2 BACYAOIL

[8&] ..., and each game is an overheated battle [filled

with emotion].
{72 ALSOICE,

kl

[ 1= an overheated battleS $=4l5t=

6®

B4 =2 ZRlE A2 =2 BEE| 23 BaHKIS RoAHOl Y
SOlCt, =2 £ 12 1 1 EBEo| 1/100] Z70f =EEIC (B) 0|
22 B9 71y DU REOI 0| BI|ZRE 2 HXIZ NI 4 o]
OF SICt= 212 9OJICt J2i3 S2I9) £2 AARS 55| 93 Of
B35 HZAS MBSH=IN? (O) 2 ZERICE 042 22| =8 &
S5p) 51 2 TT US O MG 2 4 QI 3 AL =2 2
U 1 2 90| £2 HOIA Z4710f Y= DA BIX| YKSS 25 Mof
UICE, (A) 20| 92172 281712l M2ISHEQl 0 Q0]ct A2iael
OIRSE SUCE OIS S0, £2 ZL0|= 22 Mot AZ, AEHA, 21
Z ST 22 NS0 s S WS 4 AU

SHZ0| =2 WA 0 = XA EHO| 1/100] EHCE O
20/ 0/0f &2 I3} F2 TXIZ MO{LHO SHCH= LIS (B) TS0 2

H2|E HFE (C)7} 01017 &, =5 ZWO|= 20l thet M2(efel 01
PS

/0]l &2|%{2! 0| RS0il thsll 21Edh= (A)Z 0[01X|= 20| AIHARTE

TEEM [6] This means [that the most sensitive part

of the body, the eye, has to be able to wash away dust

{that comes from the air}].

[ 19 that2 2%9| SAt means2| SEZ MOl HAPEES 0|TI=
FLALOICE. the eyeE the most ... body@t SZ0|CY, { }9] that2
dustE MAHAIZ Sh= F4 LAHALO|LS,

[9%] This makes our eyes wet and allows us fo see

clearly when our eyes are open.
=9 SARl makes®t allows?t and2 HE AHZ UL

Tallow + SX 0 +to-vi= ~7t -6t Stehe] S20|Ct,

7®

i ot 4H Ja 2Ate] HAHS0| e F K| Q7 = U
Chn =St (C) 252 FHOI7t X2tk RoH sh= YHE 2UYI
MZ0 OlHE & =+ AL I2S0| AIEe 1 7|&=2 Half A 2E|
2|05 =017] ol L= UX|Y, A2 SAE e + U0t (B) A
THS2 AMS0 1EY 00|35 201 ALgeit}. IS0l s 2 102 S
o2t 0|3 202 7HEsHH, JA2 602 S H7(0f| Qe Z0|Ct
JS2 0| M22 7|82 MES0| sAe s As s = AH &
SHTh (A) B W MAJAS0] 0] 7|8 HRBITH, 152 XS
HZ0 =kt 22 O HA A2 4= AS AOIH AT7E, 2 == of
S0l Mot AlESES &7| flall 1 7ss 012 A0[nt. o] I3
RO|H HUER] 2R2 SlEASHA L™t 22l 7h= AE5S MiSot
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TE2M [38] Also, if bread manufacturers had this
technology, they could use fewer chemicals in their

products.

Tif + 3201 + SALS| LAY, 0+ ASAt] AP +SAHEE .2 7t
Y UA F2O2, SIXf AtH Q| BiTHE LIEHHTE

[53] Wherever disasters hit, it can be used to supply
victims with safe, long-lasting food.

Wherevere S#AAE ‘~ot= X2 OC|EX'2t= 2|0|0|Ct,

"oe used to-vi= ‘~ot= O AL E|CHS] S20|Ct,

[9%] ... this new technology can prevent people from
wasting food.

"orevent[stop]+2X M +from v-ing,= ‘~7} --oH= A HCHEf
= 2jojo|Ct,

SiA 2OOIEE F=9 A2 MM SAMME =SAS0IUCE IS
L SHH & =5Hs BYoks 7IA7E MEET] AIESHAL AIRIE
o] XS A 2 Bt FAHRYM 252
FSO0IA e BAIE 2R 0] BAS2 0] 259 WQI N,
HUE 220 QJai MBEACE (C) SHRIEE 259] HM
oA AXIZ A M 71AS

2 7|
=
of =~ ool 7[AE B4, &2
P

[e]

EH
=

i

o
[

2ot Is2 380 £

EHE0] Co|E0 sl 2Fok= RO 2 T30 2AH0IESO| &
Bf MX|2 8ol5k= Q! (A)7F 211, 0] H#0| HIigt 0|5 59| A
MITI 2ol 2301 23t (C)7F 21 Flofl /0 SiTt. OFX[2ICZ 0|52 Al9
of thet g= o tiga 10 ME ZuE HFsk= (B)7h 2E A0

RAAHLE

TEE4 4] [(Being) Fearful that they would lose
their jobs to machines], they sent threatening letters ... .
[ ]= 0IRE UEI= BAITE2E A0l Being0| M2F=ACT
[73] They made the crime of industrial sabotage
punishable by death and arrested many of the Luddite
leaders, [which quickly ended the movement].

22| SAF made?t arrested”t and=2 HE HAZA AL "make +
EX0{+ 55 HO{(H&A.= ~7t ot BECH2h= SOICt

©®
[ = & HNE 2H 5= ASH SH| BAHARRO|C

= TL =230 =

48

[10&] ...,
destroying the new machines {that /ad been installed}].
[ & SAl started9] 2MNZ, breaking™} destroying0| 0| 1=
SHATIt and2 HE AZERACE { H= the new machinesE A
AR St= =2 BANHAEEZ, FH| AF(started) 2Lt 0|
Off oitt US LiEtH = 2tAHRtE AlM(had v-ed)7H ARSI ALY

they started [breaking into factories and

REVIEW TEST - Grammar in the passage p.101

1 The Luddites were laborers who worked in the

AL
English textile industry.

EACHE AL

SiLIOIESE F=9 AE A0 SARHE =SAS0[U.

2 Blinking is an involuntary action that is done to
LN BIAICHZAL

protect the eye.
= AU0|7|= =2 B&51| fIchM ot= FoAIXQI HS0|C.
3 They simply focus on a change that they want.
A-IEHA} IL}71||:HD1A|-
Js2 ©X 150| Hols Hat0l| F=3i0t

4 The players indicated the circle which best
MSAL  ZAICHEAL
represented the size of the softball.

H4ES ATEZO| 37| 718 X LiEH ¢

= 72z
5 One common formation of migrating birds is the

V—shape which is most commonly used by geese.
MAL ZEACHHAL

StLtol HHXOI HAS| L2 VAF ZQIL|, 0|22 HASO
Qlal 7+ &3] Ar2EICt

6 This dates back to a time when humans lived in
AMSHAL EHARAL

small tribes.
(0] | Al

A

ro

2UZI0| Aol RXRO = HUS M2 HE2| SetIT.

I

7 That is the physiological reason why we blink.
MRAL AL
JdA2 Re7h =2 AH0[= desi 2l 0|R0|L,

8 The manufacturers move their factories to countries

MSHAL
where costs are lower.
EAEAL
HIZEAE2 ZHI7t O HA E= L2t2 52 S&2 S7I0

9 The reason why manufacturers do this is that they
MSAL EASAL
fear they can’t keep their contracts.
HIZALSO| O|E7| oh= Olf= 10| AStS |AISH| Rot=

22 S2YsHAMOILL,
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@ Yo7t L2017 ZX|

® JE A R0 LS stsf vzl SEI.

CHECK UP p.103

Step 1
Step 2

p-103

1 cannot
1 take

2 should have 3 may well
2 open 3 waiting
Step 1

1 O Fe

o

FAE0] 22A o242 22 s 27t gl

2|7} ¢iCt2t= 90|12 71l {cannot have v-ed)7}

0

v
0r 08

12

-
]
mo

L
o

o He 48 =0
C}2h= 90| 748l (should have v-ed)7t &

v

12
0

N
0
%3 A Fllj e Ao
S
e
P}
% 3l
s 3
2 s

w
=2
o

A= IS,

o|0|2 717 may well0] Lok,

0
>
> M

v

Ao

18

0z

ob

rir

Pt

n

ol

re
o

Il

o o

of gg22) E7lok2 AUt

> A (2O ~5h2 FCHEts 20|12 (used to-v)Zt 2t0f

o

p.104
© 2 L7t OF7|2HH, L7t Eak
@ IOt L7t 712 wrerte, Lt
® 4

= I:E
BIOf L7 L7 FIAIS URE 21

@ 2fef O7H o I FREEHH, L 7t of s SUS HiElL

4 (I wish+7Pd®) vs. {as if+ 7tHH) p.104
O W7 ADIEEES 21 QICHH £3 Hib).
@ W7 AEENAM R85t S0E BIUHZHH Z4S Hib).

® UE 0§ 717t OFX| 2EY 252 AX F0{0F Bt

CHECK UP p.104

Step1 1 would have saved 2 had heard
3 had read
Step2 1 would do 2 knew 3 had passed
Step 1

1 HPZHERS 20N MTHH, AlZtS B3tS HIC).
> ifR2 SALZ (had v-ed)7t MOl ZHO 2 HOF 7MY W72tz 2
HO|DE ZHO| EAH= (ZEAS IAY +have v-ed)E MO}

SiCt,
2 & 2 A28 SUXE O] 0FfAE EX 23H AME HSIHCH
> 2OHAF O AMMO| BIHE 7HE5HL YO B2 (as if+ 7+ 2t
=) 20| 2A0f StCt, mH2tA had heard”7h YSILCY,

ol
3 L7 2SS0l E7| Mo RS B0] AL H ERt= =IOl

> SUA T7{0] Uof LB SZH0|LE 012 S LIEHDE (I wish + 7}

Step 2
1 2rF T210] JHSSIH Lhis BE XS MSFE ChA &
» ifAN SAS TAHHO| M1 Zi0 2 HOF 7Y E 1
FHY SAE (ZSAY HAH+SA

2 Ellen2 Bradley ME & Ot= ZX2 0[0

Cf.

> 2t S AFLC| BIHE 7151 QOB R (as if+ 7YY 1)
2 MO BT,

3 Dfef SamO| 24 TOi| ARlE SWACEH, 1= Xg QA HAS

lIE(N

> A0 ATEX| ot HO| K| F&S DXl= ERE HE
Ue &5t 7PHE0] M0 2X0|22 | if9| A= (had v-ed)Z
MOF Btk

5 ZFooliofstE 7F8E 2

@ 22 0[0F7|7} AHEO[2HH, R=7

p.105

@
Jr
ot
N
=)
o

® 10| L IS SUCIRAM, 02 M-S G1X| AUS HH.
® O2fS GHX| QUTI2IR, 24 0] SAIS 0iz 4 YIS 20Tt
@ 77 SICiEt XIEARIR FEXSS oS E5F 2O/,

® O171Af EOILITIR, T X/ S0 Y R & S
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BOIXtE I Z= A0 XpAl0] A

CHECK UP p.105

SEIX| QIUCID AL,

Stepl 1 return 2 Had I known 3 Were it
Step 2 1 (should) study 2 Were I[If I were]
3 Had I learned[If I had learned]
Step 1

iy Ho z
LFE oJojst= % sked2| ZX0{E MOl thatH0| F¢d

ta
SAL2E ((should) + SAHRIEY0| 2CF,

fjo

1 1 &7E2 ZE HEASHA 159 Ael= S0t e LEF .
>
O

2 SHO[HIMTHE AE AT, L= 67|10 2] gt =IO,
> Y T2 ZAEUA |f7f YT (SA+F0) 2oz

E=X|=|0{0F éfEf.

7pau+ __rL_E_ agmw 7 Y EH (SAHF

o) OlzC2 &
X|=|0{0F BTt
Step 2
1 Karen2 2|7t A0l S2tot7| flo Saio| SFoH0F St HEM

tt.
> MOt o|0j5ks SA recommended?| SXHMZ MOl thatE o)
&0l ZHS LEHHEZE thatH9| SAk= ((should) + SAH
e 2o
2 U7 LfEHE, OS0A QIARE BT
> JPEY I 2RO ZAMOIAM If7F MEFE 0 JeB 2 0] Yol
IfE 2AL IFE d=fet 2 012t SAME =XIAZIC
3 Wt S=0E R, Lhe A f& 2J0[QIX| LUS =i
> P DiRE 20| ZEOIM 7t MaE0] Yooz o
Q0] 12 EAHLE (Had+ 30 +v-ed) 0= 2 E=X|=|0{0F St

GRAMMAR for Reading pp.106-107

1 (1) would (2) may[might] (3) cannot[can’t]

2 (1) could travel (2) cannot[can’t] have left
(3) would have asked

3 (1) must have forgotten (2) could have
(3) Had I taken

4 (A) will (B) can

5 if the government had been serious

6 (A) explain (B) would be

50

1 (1) Ue s 8 2Ug st A2te] 288 st
Li= O] 20| REZHS ZoF g 40t
» (would rather A than B)= '‘Bat=L| Xt2t2| AStD ATt
{would like to-v)= ‘~5t11 A/CH2| 2|Ojo|Ct,
(2) 17+ 1§ o] LH2|1 UOIA, R2l= Fojl S0t7h= HOo| RZACh
L7t = HIE Skt ==0] EQ06HH @5 9ol HoA HatE o

NI EEEf

i_O
10
a
S
=
Q
©
flo

| z
> (cannot help v-ing)= ~otX| ¥ % i
7158 UEHUlE ZSAtZ X010}
2 (1) SMe A%S LEHHE (I wish+ 7P 27t
could travel2 11 X0} SHCt,
(2) '~ 2|7} QiCt2t= 2l0]&= (cannot have v-ed)Z LIEFHLCY,
(3) 7P - =749 2|07t &&E HA F0{(A wise person)7t M0l
717EY LA dE ZHOIEE FH| At

2 TR0} BiCY,

M0 2F0|22

would have asked

3 (1) {must have v-ed)= ~ZHS0il EZQICH2t= 2Jojo|ch
(2) SIX] AMMO| BITHS JHYohs 7Py mtH7t A0l BE0|EZ2 F
HO| ZAE (ESAt A+ SARE)OZ 201,
(3) L7 Al BIHE 7hYoh= 7R TR RATUN if7}
MM RARL (SAH+F0]) 02 EX|HLD
4
SHAT St AATLEO| of AFHEO| SUS E= AS ZO0I6H=XIE ZARY
Ch J52 J710| 29| 7t 22 EF& EMslcte stef SHE 24
5P| SiChH= ZS YOtRICH O Tt 227t S E=Od, 229
Set2 WOjR Z0|2tE AS YAMCH IS 390| HIt s W
£ SHS SR Z&S UEA T £ AT HRO0|C FE Yo 5t
HHOA, ZRAIZES| 40| FEQ 52 HUS Y HZ IFE O
CHX| 3020] AL
EHEO0| (A) S22 E2H 0| YO{E Zi0]2t1 ot 0| AHHA
2202 willo] gttt
(B) 2y 30| L7t EF Z&S UEA & £ 7| HR0 SYo=
Qs 0] HO{RICt D Sh= 0| AHAHREE can0| LSt

TEEM [1¥] A team of researchers looked into [why
people enjoy listening to music].

[ ]= looked intol] FX{0{2 MOl ZEHOIZ 2O R "O|2AL+ 301 +
SALC| 020ICt enjoyE SHANlistening)E SHNZ Fote S
Atolct.
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S0 Fets DIEAE REM. JM S5 ZRE 2017HRH 2HYF
Off 0] AL &K oA & Z0[2t2r LEFCH of X2 &tE Hxls 2
Zofl otX| SbEL. 252 U YRIL oY E2E Yo HRACHE,
SIYEWE OtL2t B MEZ0A 00| F2H|RE SIS A02t D &

EHEO0| J7rde s RO ™R (if+30{+had v-ed)2| Of
Z£=0[0{0F BfCY.

TEE4 [13] Microbeads are tiny pieces of plastic

[that are found in many beauty products and other
products, such as detergent].

[ = tiny pieces of plastic2 $=Alots 24 A HAPRO|C}

6

Sl AMHS0| AMElA dESE 2EY o, OS2 25| VIE2N Y 2F
21l 22= H4E Bt MRS 20| AR 2EH ASS ARO0|
SHE = gle A Q0 o2 S8}, 2Lt O52 UE AEFS2
H4E ASOU g1 22 WA 22 &e 2 F2|= A0l AL o
2 S0, A0l EOT A2 1 Al0| 2380 3SR 22
Ch 2L B ZTE (A0 BOITITHH Bh2 T ARE O ALE
AL S20| SHoHA| p0tMet 22 WAl R27te| Bez F2)7| 4
= A0|Ct

ZHEO| (A) ZSAH Fl0l= SAFRER0| 240F BHCL
(B) 7Y TpAH7E MO ZHOIM FHO

2434)0] 9o SiCt.

TE224 [58)] For example, a person [failing a test]
might explain {that the test was unfair}.

[ [= a persong s=Alot= SXEAIOICE { }= SAt explain
SXH0{2 Mol HAPHO|CH

pp.108-112

Ho[IuALSE @

1® 2@ 3@ 4® 50

on

o
4 AfRS2 o 2T X9 LEEQ MAZOIL AL S B
ES

= ACZ £HE HIRIEX| S FO/ol0F Sttt THA] 2ol "= 2ol
e ot I FH 22 SERHOAME & N 2E E8t0le o2 O
et AlZ10 ST RS £ES0] AL I & oL of £HO| HA|
2IES| S4& UEHHLL Y2ots A2 O2{A SHAITH B 23t &0
N EY £E59 gt AE2 TE Aleld NEST A ARZE0 o

ZHE0| £Ho=z ot AgS LHEGME ot ZXIT, JIHSH ARS

T224 [58] [To believe {that any single one of them
represents the character of an entire nation}] would be
foolish.

[ = 289 0 ALE ot FAE SH2 toRHAT0| L, {}=
F& AL thatO| 0| 1= HAFEE SA} believel| EX 2 MLE,
[9%] For example, Germans frequently use a proverb
[that translates to “The morning hour has gold in its
mouth.”]

[ J= a proverbE s=Alok= 24 BALIHARHOIC,

1®

oM G2 UM DN O Ho| A=t IA2 S F
DRSK|= ZEL. ofot 42 AFFS0] 0E5| A0 2ol 1 AU
22t MK e H2X2 e =7k 7|YEX; oMK 2E 7HsE0|
ULt Ol 28 gtz 432 &+ UL R0A= FAE AL &
HOMZ EU OHE MES0| Re0A Lot 7Y5| HdS ZeEXE
LoHE7Ioks FE0] ALt A2 YSot7| fIoiM, HTEAER stdE
OIA Zojet 280 U= BIN=E A . 2210 LM 52 S S
Ol EotLt B2 g ZFS0] UE0 2 EIMRE 7|9ER| S5 2

A

Ao
=
MK
o
i
é
U
rr
m
o
i
k=]
40
o
2
Y
e
M
o
_O'E
o
rir
P
0=
fol
1
=

o
_O'M

TEEM [4%] It is our tendency [to see things only
from our own perspective] and [to overestimate {how
closely others are paying attention to us}].

= 79l [ J= our tendencyE +AI5H= HEAE 19| toFEAL
T2 and2 2 AZAEZAC { H= overestimate?| SHHZ MOl
UHARELE MO|ZAf+ 0] + SALL| 00|Ct,

[83] The average number [(which(that]) they guessed]
was approximately twice as large as the actual

number of students {who remembered it}.
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[ = The average numbers Aot 552 A HHAEZ &
HHHAL which[that]7t S EUCE THi=At+as+ S +as A=
‘ARLE ~t O - SHEA 0|2k SROIC. { b= studentsE MlAL
2 ot= =4 HAZAEO|CE

2@

oA QIZk2 HHREQ S=SXY XHE EYEN Z2/X0 248 M
S 25 102215 YA WY 11E2E H=0al it tiRE2
AlFE2 A2te] @5 10221E 71 AT oR|0f & ==0] Xt0|7}
O SH2te e A 22X SN 28887t #2 AFEE0| DIAE
Ploll MES AEGI=S 50| flofl LS 7Hdoks AIUERE &9
o|gettt, 152 G40 AF &0 sHMEQ| 0|22 3 20 10022
A NMEotH 2EIY Mf 5254542 S A 2 A0[2t1] 2B}, SRX|TH
CHAl M2 H0f MRS 742 229,388 215 7 € Z0|CH 1 XH0l=
SEXXZ, JA2 HEeltt. B 0j2He] B2 WREES AHSHA
Y SS T G|, A AFFS0] AIZRE 30 =0 1002 &
21E A 2 A0[2t1l S0 = 2oL,

— AIES2 020 2E O 2 BYEH SAHOR e By [ TS
off Srtt

ZHE0| MHS2 USB0l| e BYo 7171 § FERtE Z2Hel 2
de M=t Wed ol

TEE4 [43] Financial experts often use what-if
scenarios [to convince young people to start saving
money for the future].

[ J= 3X& UEUE toRFA] 2AE 8R0|Ct "convince + =

M0 +to-vi= ~7t --ot=E A5t 2t S0l

o
- =
Aol At ofLt7t G2 EoRE M, 11

20t %0 choh 23t
S SOI3t AIZI0IUS ZOICH T2ILt HOIRIE ATt B3t AZI0|3!
Cf. SEHE 22 BIZ FHY AIE, I 41 S0re| J45t el
stx 2O 10| AIIE I3 AloZ BHE YTt

5 [0ICIOP7} 7HBE 2916] M7l HM BUK| 22U, 4

EHZ0[ Tt oFoIC0{7F 2215] HURI= AXY EOIX|2, AHd2
Qe 21 A0 2ol 7tsotths HEOIL
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TEE4 (6] If the apple had shot up into the sky
instead, it would have been an extraordinary event,
one [that even an unintelligent observer would have
wondered about].

I I dE 2EOR, Ao AN Y JHsH0l SHUHE dS
7P™35t1 QUCt. one 0|5H= an extraordinary eventS 2 Mot
= s4070|H, [ ]= oneg $Al5tH= SE1Z B|IHHAFHO|CE,
[824] It was Newton's mind that was special, ... .

"It is[was] ~ that ..., 24X 222 Newton's mindS ZX3HCt

4@
S1A T19) NS ST 252 AISUS 1 015 01 7|
O &, SX|, Y2 7195 22 BB PHDIZ L2I1S o A0 HEr
5l B0| £X| RS 4T UL T2l AR S5 & O ARISO| H
CRRE SUR|E HS YSH YO, 0l 1 X0l IS5 HYY 52
S 0 B3 4 | HROIC, ZWHOR, 59| AXS AZS0| 8
MO 2 YHOR AN BSUCE AZ0| SEARILL TYYTY o
A B0 YOH, 48 MY BESS 0 BOIY 4 AU, T2 £
719] SRS BOIKI= 20| st UYS WYUCL TSOIA 01K,
CI2 AMMSTH 87 401 S5t 253 2ot 93 Hes 2o I
A%{0] HUC,

— 592 9Ist BA 2|0, NS HOBRH 150 MY I15S

ZHE0| 27] 58 AEM AL S22 SX2= H
Zoli7F Z7] WE0 AFRHE2 01 A717] ?lol M2 HEE Q7L U

Ch= WE0|tt.

TEE4 [2%] Raising cattle, pigs, and sheep might
not have bound someone as tightly to an area as
planting grain does.

fas+ &g +as ~= ~0F - 8H5A]'0]2t= S20IC doese bind
someones Hh= HSALO|LY,

[6&] ..., the beginning of agriculture caused people to
gather together in much larger groups.

cause + S&0{ +to-v,= ‘~7t -6t StCHeh= 2|0[0|Ct much
= HlZ(larger)& ZZ&st= FALZ #M'0|2k= 520,

[9%] For them, it became essential to learn [how to live
with others and to manage conflicts {that arose}].

it2 7t5010|11, to learn O|3k7} TIFO{0|Ct, Thow +to-vi= Of
EH ~aHoF ZX'0|2k= 52011, & JHE| toRFAL to livet to
manage?} and2 HZ HZZACE, { }= AL conflictsS =4

ot= 4 HAWSAEO|L



5®

SiA A0| ME S S0/ TH, FAS SHIEZ? F 7HA] Lt
Mo Y2 fAHeR 235k A B AS Lloks A0ICt =9
L, 282 g0l UXMES Eo 2 7tsde =Y & U0 & 870
M AEMEE 4o 50 HXE ARE B8N 288 &80 7N
o AFEE2 XNEAE &9 SHYS HEIU=H|, 201 Aol =
ZOoZ BOIF7IH (G A0l THE) SFAQ ZEe LEHZ| E0]
O 20 X2Ate ZEl2 288 1, LHHX| ZH2 7198 MEs 3
o 02 = = JH2 250 =3 23S OA . 2its 252 &
X#ERE0| (71998 HZSS §) CHE XIYFXSEOE CIME ARl o 0§
= LSS BORN. 0|R2 UM 222 gFIE Soll & UK
£ Mot of7| 22X ZEH

— g7= 282 ol MES0| ZUA &35S ol AYSEH UA
EE [ Hole AS BUEL

ZHE0 2SAMA 23)8 o FHY HE(FMUAN €35)8 st HHS
Hlush &8 21 255 of JHO| UXNES O get 422 UEKR=

TEE4 [2%] Unfortunately, exercising can increase
the likelihood [that you'll want dessert].

[ I= the likelihoodE £¢1 45 = SZHO|CE

(3] In a study, volunteers held a joystick [while
looking at images of everyday items and desserts].

[ = SAISEE UEHHE BMFECR 90|15 FE5| ot7| 2k
BLAIS H2FotR| AT

[42] The researchers monitored the hand movements
of the volunteers, as pulling the joystick toward their
bodies indicated positive feelings.

as= 0[RS UEH= HEAIZ MRACH 2ARES F0{

(pulling ... bodies)0|Ct,

rir

SEA

REVIEW TEST - Grammar in the passage p.113

1 Certain proverbs within a culture could be used to
form some valid concepts.

T

o Zo2t K0 58 S£EHE2 ¢F Rad/iEE ddot= b

2 It should not be assumed that proverbs directly
reflect national character.

L£H0| FUES AFX O SrHBITH D W2 M= ¢ L,
3 It may have been very embarrassing.
A2 d¥o| ZLSK|E ZECt
4 They asked students to estimate how many classmates
would remember the shirt later.
= SIS0 Lot B2 8 ZI7S0| B0 1 EIN=E
Zofl 27 At

.

-
=
ofEx| %

7|
5 The researchers believe this might be caused by
extreme self-awareness.

ATLAS2 0| 40] RLEE! Ap7| QUA 0N L SX| = DELHD

2=L.

6 Great ideas may sometimes seem to arise suddenly.
2CHBE OLOIE|0= 7HE LAY | HREs AN 2 = QUCt

7 Raising cattle might not have bound someone as

tightly to an area as planting grain does.

A5 7|2E A2 F2 FAUZ F2tE o HA0| HEHS| =
o
8 Exercising can increase the likelihood that you will
want dessert.
23ot= A2 G0 HEES HotA 2 7tsd

.

0| A O]
T2 T M

njo

9 If you started at age 30, you would have only
$229,388.

SHAIO| ME A0 AIRISHHA, 74 229,388E21E A 2 Z0|Ct
10 If you were trying to lose weight, what would you
do?

g0l MBS S0[2L TH, FAS oH=71?

= 3
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UNIT 10
S

1 HE X
@ 22| otet AL= AHE0| ATk ZUCH
@ DNAE AEE9l &

HE UEKIE SAZLE

p.115

® AB0| L %S UK MBS ZYsts H=0t B o &t
@ Rt DES Ko DETHS B Lt
2 ZZEY p-115
@ L7} 20| 0L 8= 242 B2 DlMBXIo[Ct,
L2107t OfR| AILIOIA] BHet A2 B2 23t BT,
® Lt U7t 230 T2IADHA TIEO] S 4 YIS HY BRI,
@ 0] M2 7Ky WU SAS HUR WL,

CHECK UP p.115

Step1 1 sliding 2 dusted 3 that
4 does
Step2 1 F to offer 2 F, doing 3T
Step 1

> MX|AF byQ| EXOZ MO SHA(pressing the button)} or
X2/0|22 EHA} sliding0| &&SICt

FHAIHIQl SAF(made ..., organized ...)2t andZ #E HZA
E 07 Xt2[0| 2= Bt SAt dusted?t LSIT
3 W7EA A 7 [EFE FUSH A2 HEZ W 37 JeremyE RIGHM UL,
> (ltis[was] ~ that ...) ZZ& FZ20| Q1 ZFO|C},
4 Charlie= ZHIXIE Y= A= L2 Z013ICH
> ABSALL |0|§ US| 215t (do[does/did] +SAHAE) HEY
7 MLt Z=0{(Charlie)7t 3217 ©4=0|2 2 doesE 2Lt

Step 2
1 LU= 2Yokad= 0] o2t oA =21s
> SXZ LEH= SAE 2899l toRFA
A but BY2 HZE|QUCH [M2tA toE & A} to offer
2 Li= 2X Yok= AR CHE ARE @4 Yste A2 O S210h
b HW TEOZ ZAtenjoyQ 2EN{Z MO SHAITE working ...
others®t HZE HZAE 07 A12|0|22 ZHA} doingS MOF 3Lt
3 P27t N MAOE(ol| 7 22 HiE2 EQUO|ULY.
> FX|AE on SaturdayE ZASH= (It is[was] ~ that ...y 24X 7

ol
an g
o
§ E
LU= T
= r_t._l OII
S M R
2 MO
o P 30
o L 3=
o = 0
e Py
S
Q
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3 EX 78 p.116
® I52 A9 2 = QURUS B0 Ot 2} T=5H | = FHC.
@ A2 0| X0l HF 0|SotH 2e meh HRIFHL,
@ 1 FXZ0| 42 AILEM L= J28 §F ¥ o 20
+ &35 Plus
= MH0IM XY 2EE X[X|oh=0], Ltz Eot 180
4 o734 o p.116

CHECK UP p.116

Step1 1 was anote 2 isacomputer 3 dol
Step 2 1 was the soldier
2 were all kinds of delicious cakes 3 that
Step 1

1 =% ol 23olM 2 01F 8 H0| AUL
> HAO| EAE Under the stampZt 222 QH0f| o2 FO{2
SAPZEEXIED,
2 ARH= AR EXE O LHsH= 4t
> 2H0f Rarely(ZMY ~ UCH7t 2HO A0l B2 F0i2t &
APZF EXIEC
3 Haley= ZRE ANE IR XS S0t6HA| §2=0, L 2ZX| L.
> 2 LHES YO~ E&F DX UTyet= 20|E LEHY| 2{5H
{neither +do+0{)2Q] {&=OZ 2Lt

Step 2
1 17912 OHHE CiAls 2K 2 2F0IAC.

X|ECt
2 AE Qols 2% 372 SIle A 0|37t /UL
> A9 HAHQI On the kitchen table0] 2&2Q| Q0 D2

709} SAPH SRS,
3 7 SUCHS 20| Lol 2R | T2
> The thoughtS S0l MEiots S0 YALNS 0|IE H&AF

thatO] HQ Gt}

5 Of=0l |2[5H0f 5l= 2=
@O W 0| 0{EH O|FOE HIX|0f all W2fot= A2 UE S8

Al SHE.

=
@ U= L X ol 2HE SE0| ZA0



6 5¥o X2 UEl= BES p.117
O L= EXE 225 OX] $1l= TXE HA| §4=0f
@ 2 oltts SO 3t ey B9 7IHE SFA7 = A2 Of
LT,
® 2= AIHS0] AAUS0| MRS AFE olaie 72ty Y= A
= Ot ATt
Stepl 1lturnitin 2 where I will stay
3 someone creative
Step 2 1 write them down 2 who ate the cake
3 brave enough
Step 1
1 AHES W XMoA MEH FH L.
> (EHSAH+EAD YHEIQ| SAHT turn in2] SHMZ CHHAK) 7t 2t
ooz HAL 0 &0t
2 L= 6ok S oTioiM SSX1 2 5f | Z34Ct
> A decided? SX0{Z MOl ZHYOIZR0IEE (QZA+F
01+ SAHe| OlzC & 2Lt
3 2= M=Z2 Of0|L|HE 4ztoh & Fo|XQl Aol BRs.
> someonelt Z0| -oneC 2 ELt= SHUHAIE JFEAE FHO
A AT
Step 2
1 e S5 HEE = U= /1 E22 Y2 IAsS HoF= A
0[Ct,

> (EFSAH+EAD HEfQ SAT write down2 SX N2 CiHAL
(them)7t OO 2 AL Q0| 2L},
2 OS2 %7 A0|3E HA=K SHO.

=
> ZHEHOIZE QMM 2lZAKwho)7t 012 MO AL0|Z 2 (92
A+ SADC| Oj=Q = £t
3 IS2 WSS 2 AHE Y BE 20| 843t
» HAIZ MOl enoughs AN brave)S F|0jA] $=AISHT}

GRAMMAR for Reading pp-118-119

1 (1) nor called (2) did I think
(3) It was the vegetable soup that
2 (1) F, something delicious
(2) F, How the workers feel
3T
3 (1) Not every room in this hotel
(2) Not only did she save his life
(3) Could you turn it on

(4) F, exercising

4 it is the law of cause and effect that

5 not, all
EXTRA QUESTION heat
6 (A) that (B) use
1 (1) S2ESA(neither A nor BYOl| SIZE 07= 22 iS5l
Of Bttt
(2) 2301 LittleO| 22| A0 2T 012t SAZF =X =0, 0|
SAZE LEEEAHthink)0| 22 Z=0{ 0f| doS 20, IpAHQ LS
LIEHHE 2 didE 2L,
(8) Z=04(the vegetable soup)ES ZZX&H=0 19 Lo|22 (It
was ~ that ...) ZZX 222 LIEfHICE
2 (1) L= 27t SiE Ag 26k ALt
» somethingM & -thingC 2 ZLt= SXHHEANE SAHT)7} &
Ol M #=Al5t2 2 something deliciousZ AOF SHC,
(2) RS0 RHlo| Lg HEH =Xl 52 Y2 Mutof gt
FEC
> 22 FO{2 MOl OZAt How?t 0|1l ZHYSIZE0|2E (9
AL+ 0+ SAHO| 0O & Lt
(3) 1 BAL IHARHCHE T FAE LA SZE0IQACH
» that2 The newsS ¢ %otz 549 YAES 0| F&
A0}
(4) 7120 £22 S48 ¥ 2EEHCRM 2 7UE RXE +
ALt
> MX|AL Byol 2X0{2 SHAHeating)7t M¥ 0, 0|2 S
ZAHand)2 AAE o7 BEHAHOE Solof stE2 SHAL
exercisingg MOf ST,
3 (1) BHO0I(Not)2t everyZt BH A0 ‘BF ~5 232 OfL|CHek= 9|0]|
2 22 23S Lt
(2) 2501 Not onlyZ} 2%9] Q0| 211, UetzAl(save)7t 401 A
20|22 (Not only+do[does/did]+FH+SAHS {22
Ex|=ICH
(3) (EISAL+ 2AD S SX017F THFAK[)Q 2 SX0{= BIEA
SAL 0l 240F BT,
4

% Py , O
Ho| M2 A2 B2 ot WAO|C, 1202 PN AN ZRtA
2190 BHX| D2t 22 UM XISIARR RO WOISOITH A

EHZE0| (ltis ~that ..) dx FEOZ2 ZAX

cause and effectZ it is2} that ALO|0l| =L},
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TEE4 [1¥8] At one time or another, everyone has to
deal with both emotional highs and emotional lows.
"both A and B.= ‘A% B & Cf'2h= 9|0]9] H-FLA0|C

5
SHA BHAte Burst of ThSt LSS E25H7| TR0 OfF SR 4
ULk SIRIRt BE WAL IHSS FRAYUSHE 22 OfLIC AH2,
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ZHEZE0| £H0{(not)2t allo] B7H XA0|H, ‘BE ~Q1 H2 OfL|CHEt=

o0z #& RS LIEHHD,

TE2EA [38] It seeks out volcanic areas [when

making a nest] and uses their heat {to help hatch its

eggs).
S A} seeks out®t uses?t and2 B HALQUCE [ |= ME LIE

e ZMFZ22 of0|E &S| of7| 2ot HEAME Y=fotk| &

AL A{JE SHE UEUE FAR Y2 toRFAITL0IT
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HASO| = 71 2 =M S otlt= bt
[Tt 10| 252 JEf0lM = TEA

7F 971 W2 FM2 7hs1 o EICE NASAE A7 7|
A O] EMIE o Zoh=Al YOt ot AL 252 T
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S0 &1, NASAE 2% 8 el
A1 2ol TS LS A8ots #e USUH.

g

BASS 159 %

oz rm on
S
<2 0o
B

n

s

OH
an

fjo
rim
rm
kel
k=
’—\J
o
ol
=
40
Pl
]
4o
£0
il

EHZ0| (A) 0] the weakening of leg veinsE ZZok= (It is ~
that ...) 4= T+=20ICt

(B) MBAF tubesS 4=Al5h= BATHHARE Qt0M SAf fitat use?t and

= HE JZ2E Ao

TE2EM [69] ..., NASA created tubes [that fit around

astronauts’ legs and use vacuum pressure to expand

their veins].

[ [= Y2 tubesE sAloh= 24 A HZARHO|CE

56

31721 Protogenes= AHAIQ| Z4210| IS0
(o]

b | (=)
S X|OieE dle = AR, = CaunusOllA EHO{REX|2E A4l Cf
R

X2t 729 0| e E JHX] 0[0F7[= QALH 19| 7P & LT 22
2 ‘lalysus'?} ‘Satyr'0|Ct. 217t RhodesOl Q= S OFS 9| XY H20
CHSE RALRI ‘lalysus'E Aot= O of 70| ZRLCH 1 J82 202
S7AX|7| ol th2k 200 SOt Rhodestf| HOIUAED], ZOA LS
Off SIIHE MAERALCH ‘Satyr'of| ol LSHAH, Protogenes= O =L
0te| ZAS = St MO| QAL & 7H2H|0l U= A J2s JF
Ch. ‘Satyr'E &HAM3s O 2= of 70MIRAC

EHE0 @ Mo oAb gt 7h200 U H0AM ‘Satyr's IRCHD
Ct.
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TEE4 [63] It took him about seven years to
complete the Ialysus, [a depiction of a local hero from
a town in Rhodes].

It takes +AlZH+toR ™AL = ~5h= O (AIZHO| ZRCH2eh= oj0)
OIEk. [ ] the lalysusE S HdHsH= S20{710|CH

[82] The painting remained in Rhodes for about 200

years, before it was carried off to Rome, [where it

was later destroyed in a fire].

[ [= Rome0| tHali £ dH5t= 7%
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TFE24 (18] [(Being) Native to Mexico and Central
Americal, it is also called a Mexican sour gherkin or

a mouse melon.



[ I= Y0l BeingO| M2F=l SE{O| EALE0|CH,
[72] When the cucamelon fruit is about the size of a

grape, it is ripe enough to be picked.

"S§EAt+enough to-v,= ~& 22 S&5| - 8F0|2k= 2/0]0|C},

20

oA EHS0| SEAIFE SOE2ZI0IM HAEE 22 HXIR0ICH
Is2 24 242 S=2, 2 0/%0| 1 20| gleH 28M IfS
ZEX|D QIE 52 Z0|7F 150mmefol|l SX| 9411, AZdnt 740 37|
XO7 |t 59 BH0E Stotl, d52 FHXAE Fk= OfYn,
IS9| AMeld AS2 H0|L L M2 A O RAGILE O52
oRIn UF 2|31 ot BA| 3000t2]2] JHAH0 0|2 2 FHE O]
S0f RotoA &1l M7IE T XY= LIRE 0| Aol gloM 25
9] =2 MR AL}, FHXIFIE ot 1SS M2 LUK s AC2 &2
O, &7t Aol GlE ROIIA & 4= RUCE.

EHE0 © 22 91 DRIt 28M0|Tt

@ =21 YA9 27| x0l= gl

@ X|SIOM AT MO R L= AUS Aol girt

® MA7F A9l GlE UM & 2= AL

TE=4 4] ...,

their social behavior more closely resembles that of

they are neither moles nor rats, and

ants or bees.

Meither A nor B/= ‘A BE OF'Q| 2|0|0|C}, that 40j| Lt
social behaviors gH=L},

(7] Rarely do they come up to the surface of the
earth, ... .

EX0{(Rarely)?t 250 21, 29| SME LRHSAZE 400 A

£ r=50{(Rarely) + do[does/did] + 01+ SAIRIH, 2 0jz02

3@

S 9 EEE 20143 O Li2t7h MA 2la9 =A 2 At =71

EXE E0ELCH B2 £ 1,6509 HZ SE9| 1912 RIXISIC. Al

Ao = HW= AHIE HO| & 27121 0|=2 =H| 2HE0A] 2{A|0tE
CH & Hif 0|4 AHIFCH SUE 0|20 2009 22f O R AH|5H0
Z20j|A I CH2S AHXIEICH I3 5809 23S AH|JED, 0l 0|

=0| AH|EF 29| HEto| oF =Y

Ot= =H| 20l 71 M2 S AH|ZICH

EHZE0] @ =22 X 20| 580 H2E AH|ZT, 0= 1,120

of IS AHIFHC DR 0|79 HEl 0|AS AH|SH A0|Ch

JH'IF.

ri"

TEEM [58] The UK spent 58 billion dollars, [which
was less than half of {what the USA spent}].

=EE
AFE

J= MEiAIRl 58 billion dollarsE £ MHGH= ASE 2
4 87 = TAEEZ

AICHEAREOIC, { }= AHEAL whatO] 0|11
XAl of of XM= ML,

RV

[63] Of the five countries [represented on the graph],
Russia spent the least money on international

tourism.
Tthe + Z|&F +in[of] ~= ~S0AN 7t - SHBHAIT0]2H= S=Ql,
HX|IAFRQ! of the five countries?t 2% 02 LIZICt [ J= the

five countriesg& $=45H= BHEAMO0|CY,

A QU ZAS710[XF £A| 7191 Kfo|H H2H|2E 1987H0) 2
Mo | |x|Hr01w EfOIS{T, 1971400 AIROR MBI 1
812 Cf AIHOE XIHCH 17t AHOR QU 5
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TE224 [58] It was the city's efficient public transit
system that had the biggest impact ... .

B229| 049l the city’s efficient public transit systems 22X 5}
= "t was ~ that ..., 2% FL20|Ct,

[63] [Now (being) copied in more than 100 countries
around the world], it is efficient, ... .

[ ] BOHASE LIEHE 2AFT22Z copied A0 being0] A4

2fe|oit,
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TE2M [63] They did so not only because of its
strategic position but also for its surface layer of

guano, [valuable seabird waste {that was sold as

fertilizer}].
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valuable seabird wasteE $4l5

[8%] Attempts [to colonize Clipperton Island] were
made from 1858 to 1917, ... .
[ I= 29 :0iQl AttemptsE 4AI5te HEAE 889 toRH

AT0|H, 239 SAt=

were madeO|L},
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SH4 Joshua tree= 7HA| 20| B ETH 20| U= 4E40|CE, A9 =
S35t 2t IR0, HAgo=2 217|7t QUL E33|: Joshua tree= Cf
2 IAZ2 g4 o0" I 4E20| F5| F30 = S+t A= L0
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FHE0| ® Joshua trees H7| &1 HORZ HS 57| IR0 A
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T==4 [3™] Unfortunately, Joshua trees are ...,
despite their very low survival rate [when (they are)

removed and planted in other places].
ALl R0t FHO| F0{7F 211, FAFES| SAPL beSAO|2
'Z=0{ +beS AL} H2F| ACH,
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TE=4 4] ...,

makes up the smallest portion of the population but

the oldest age group, 85 and older,

generates 11% ... .

85 and older= 2&2| 012! the oldest age groupE £¢ Y
S5te =24 H70|Ct, 29| SALZ makes updt generates?| but
O HY AAFUCL

[63] The biggest portion of the population is people
[aged 20 to 64], and they spend more than any other age
group.

TEE +of+ HALIE {2 MO|H of F2 FALS| 0 SALS] £5
UXIAZ|22 the population0] YX[5t= T4 SAtis7h KCE [ ]
= peopleS $45t= UAZASO|C, HwE
Tt HAL= ‘THE O ~20 O B3] 0l2k= 2a=2 20|
£ 712Ict

+than any other+

8 ®
ofld QoA HzHEs S5

TA7HZI HZR=S| 27

e
0z
0x
T}
>
v
mjo
|
r
N
|0
e

] £§
iul
I
rr
[
[
Ol
I, o
=
Ho

ru

=
my
rlo

o oh
rx

fol
32
o
N
T

o
> M0 >
ks

0
=2
riy
e
- 0z
iropy Mo hu
J

N
o

i
ps
m
o
e oompo o
=
U
=
Iru

ne
0%

3Q
Pl
=)
|
=]
[0 o
Al
10
N
o
o
i
> O
rlo
%o
QN
2]
3Q
iu]
° <

e

.
N

o
[T R <]
o
==
= Mo
e o

o Hu
i)
rlo
4
10

o J

[ jo

1o

0%, 2

= 0471?_'[}.

&
=
|

ir
|
>
=
1o
:‘.
m{nll
ofu
o
Ly
e
ru
Il
ton
]
OfM
_O'y
on
|0

EHE0| ® I= H0t A= S MFet FYs 2ALLD

52
]

TE=E4 [2%] He painted slowly and with great
attention to detail, favoring bright colors ... .
favoring O|ot= SOYES LIEL = 2AHZ0ICY,

[3™] However, it is his skilled treatment and use of
light that is most renowned.

204 his skilled ... lightE Z4Z5t= it is ~ that ..., & F1=20|C}
[73] It wasn’t until the 19th century that his work
was rediscovered.
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It wasn't until ~ that .
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REVIEW TEST - Grammar in the passage p.125

1

They fought not only because of its strategic
position but also for its surface layer of guano.

J52 A9 MEA AX| iZ 20| OfL|2t 42| F0te BE
IHZ Ol MEACE,

A group of Mexican settlers were forgotten and left
stranded.

AT o HAfDl FHE ASF D QETHE 25t AHE FHARLY,
The oldest age group makes up the smallest portion

of the population but generates 11% of healthcare
spending.

Z|0E HHE e Vb M2 HES XX|oHA|2t o2 H|=
11%E LdAZICH
It is his skilled treatment and use of light that is
most renowned.

71 RS A2 Ht2 19| 3 E WOl X2|*t AHZ0|C.
Jamie Lerner, a well-known architect and urban
planner, was born in Brazil.

RESE AZFTIO0[R =A| EA 7121 Jamie Lernere= E21E0H|A
EH Ot Ct.

It was the city’s efficient public transit system that
had the biggest impact on the residents’ lives.
ARISQ] 40 7HY 2 e & A2 1 TA 2501 US

usS AAOIUL,

Protogenes, an ancient Greek painter, was known
for the great attention he paid to his paintings.

10 J2|A 317191 Protogenesi= At 2| IS0 22UE X|
CHEE SIMO 2 ALt

e

It is ripe enough to be picked.

JdA2 &[0 20| AU,

Rarely do they come up to the surface of the earth.

JS0| AR L= g2 Ao |l

10 Once they are big enough, replant them to your

garden.

A IAS0| ol AW, DASS HO FEo| 5/ aI0=
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